Svenska Bridgeférbundet
Silver 1 IAF, Festivalen 2016-07-29

IMP o6ver faltet, 53 bord, 106 par. Antal brickor: 42.

Plac

Par

521
425
630
452
434
545
460
533
644
422
621
451
525
658
649
532
553
530
547
627
522
653
457
527
546
638
431
660
537
634
549
444
633
430
437
449
629
557
646
556
624
446
647
637
524
654
632
543
635
433
448
544
447
622
428
423
436
558
426
631
454
458
648
555
636
656
427
526
645
429
559
536
450
554
455
550
456
551
651
655
459
628
625
626
652

Poang

5863
5199
5028
4211
3680
3398
3380
3273
3085
2918
2773
2763
2681
2655
2500
2330
2313
2308
2294
2166
2068
1980
1795
1705
1632
1548
1526
1328
1325
1217
1169
1121
971
960
821
769
727
638
603
567
441
413
405
379
345
337
326
213
191
146
126
107
11
-8
-42
-348
-400
-406
-433
-494
-510
-539
-562
-605
-661
-764
-816
-853
-903
-905
-927
-989
-1050
-1079
-1229
-1298
-1321
-1415
-1464
-1483
-1555
-1692
-1721
-1745
-1786

Namn

Bjorn Sorling - Par Ol-Mars

Olle Wademark - Krister Ahlesved
Kenneth Wallin - Pasi Kallio

Erik Hansson - Castor Mann

Tommy Jansson - Magnus Hultman
Suzanne Lemborn - Michael Lemborn
Sofia Ryman - Bengt Wiberg

Kjell Hakansson - Leif Andersson
Pierre Carbonnier - Hakan Tjarnemo
Hans Kvick - Thomas Ivarsson

Mike Ash - Sandy Duncan

UIf Backman - Ann-Charlotte Tranvik
Birgitta Radberg - Stefan Westlund
Simon Ekenberg - Per-Ola Cullin
Niklas Hedin - Carmen Tuason
Anders Erikson - Robin Bjoérkstrand
Daniel Eriksson - Viktor Andréasson
Kent Karlsson - Jimmy Herrdin

Hakan Straaf - Mats Sjoberg

Maria Gronkvist - Catharina Ahlesved
Mats Johansson - Robert Larsson
Niclas Samuelsson - Anders Dellien
Goran Hammarstrom - Mikael Arnberg
Per Andersson - Villy Havasi

Thomas Karlsson - Terje Lie

Per-Inge Helmertz - Jaenita Johansson
Ko Hellig - Peter de Jong

Maija Romanovska - lvars Rubenis
Pontus Karlsson - Michael Karlin
Christer Géllstrdm - Per-Olof Andersson
Sanna Clementsson - Linus Dahlstrém
Trond Odin Rgnbeck - Gunnar Wikstrand
Leif Bremark - Marten Gustawsson
Helena Stromberg - Dan Bylund
Johan Nilsson - Mans Berg

Tobias Térngvist - Ulrika Lindstrém
Micael Svensson - Conny Svensson
Bjorn Ohlsson - Johan Noberius
Gunnar Sjokvist - Eirikur Jonsson
Tom Rosén - Anne-Marie Wikstrom
Lars Lundgren - Per-Ake Jansson

Jan Selberg - Patric Holmberg

Marten Howe - Daniel Gustafsson
Kathrine Bertheau - Adam Stokka
Lars Marjoniemi - Thomas Cedervall
Ulla Norman - Karin Hellsten

Torsten Eriksson - Thomas Persson
Johan Svensson - Hans Svensson
Thomas Hultgren - Christer Larsson
Eva Johansson - Ann Bergqvist

Jan Ottosson - Reine Gustavsson
Thomas Axenbratt - Torbjorn Olsson
Hans Granath - Mikael Blomqvist

Lars Kennethsson - Per Jansson
Alexander Sandin - Ted Olows

Borje Rudenstal - Andreas Konyves
Roger Rundkvist - Glenn Nilsson

Lars Ericson - Bo Ericson

Erik Wiberg - Markus Bertheau
Thomas Ekendahl - Barbara Ekendahl
Per-Ake Pettersson - Anders Pettersson
Kurt Karlsson - Ake Bergman
Joachim Borgel - Tommi Ramstedt
Sveinn Bjarman - Tommy Hagstrom
Lars-Goran Jonsson - Roger Ahlbom
Lisbeth Engdahl - Annika Sundelin
Leif Ohrn - Solweigh Andersson

Carl Engholm - Marcus Hjelte

Leif Ernstsson - Tommy Jansson
Lennart Eriksson - Hjalmar Sandblom
Elisabeth Olsson - Kerstin Edwall
Peter Flodgvist - Karl Persson

Anette Svenningsson - Monica Johanson
Micke Almgren - Simon Bech
Marianne Melchior Ericson - Joakim Ericson
Philip Berggren - Simon Gustavsson
Sven-Erik Hallkvist - Carina Hallkvist
Lena Lundqvist - Gun-Britt Rindstal
Peter Backstrand - Stefan Lilja
Ragnar Ouchterlony - Olov Andersson
Mikael Westerlund - Bo Sundell

Ulla Ouchterlony - Erik Ouchterlony
Christer Sandberg - Hans-Olof Hallén
Karola Hogberg - Lars Lilja

Lars Lundgvist - Kent Lundstrém

MID
80438 5342
14800 13995
1597 4029
53648 58464
8415 14044
14984 1215
78200 80131
3733 8923
5538 5534
2878 6659
60131 60132
82648 27165
17276 13174
41685 21204
42390 89810
3396 30309
24659 89902
4155 81411
1161 1198
1076 7124
15014 15346
4362 7117
11426 24686
17111 89205
8958 5024
1322 7598
61740 +903
+314 +309
3645 13772
44292 13818
55629 44253
+901 +902
11042 8699
12565 8223
13918 12873
16484 26477
2383 7638
5648 655
10488 +24
11978 9734
10275 2714
11074 17031
24774 89269
81089 30515
14508 81067
40394 31607
493 7539
11900 26811
28874 39930
33465 32898
13368 6934
10248 12371
16018 6340
17074 2485
41730 8281
2336 4590
878 977
12536 2962
60427 57666
17307 52284
9960 26053
1579 1861
4050 51783
2817 9775
8100 11528
10154 29538
3570 11154
9773 84282
13674 10138
9020 59323
42078 47140
14778 2872
10269 10270
11390 87173
17146 26279
39845 49608
12984 6161
25982 7974
13838 20858
52356 46612
9690 3413
45563 47106
15867 9896
17222 4118
6692 85082

Klubb

Skara BS - BK S:t Erik

Norrorts Bridge - Uppsalabridgen
Orebridgen

Gamleby BK - BK S:t Erik
Overums BK - Lindesbergs BS
Karlstads BK

BK S:t Erik - Arla BK

Ystads BS - Genarps BK

LUCK

Uppsalabridgen

Farésunds BK

BK Opalen - Véxjobridgen

Géavle BK

Uppsalabridgen

BK S:t Erik

BK Centrum - LudvikaBygdens BK
Gavle BK - Hassleholms BK
Askers. BK Singelton

Filbyter Bridge

Orebridgen

Uppsalabridgen

Kungshamns BK - Orust BK

BK S:t Erik

BK Albrekts

Storsjébygdens BK - BK Falkenberg
BK Bridgehuset - Frolunda BS
Hids BK - Netherland

Latvia

Améls BS

Katrineholms BA

Malmo BK - Lunds BK

Norge

BK S:t Erik

Sundsvallsbridgen

BK S:t Erik

BK Everfresh

Orebridgen - Askers. BK Singelton
Sdélvesborgs BK - LUCK
Vaxjobridgen - Iceland
Strangnas BK Gripen - TBS Scania
Arboga BK - Smedstadens BK
Norrorts Bridge - BK S:t Erik
LUCK - Lunds BK

Filbyter Bridge - BK S:t Erik
Hallstahammars BK - Fagersta BS
Luled BK

Ystads BS

Bohus Nations BS - Eksjo BK
AsalFrilles&s BK

Askims BK - Mdlndals BK
Majstangens BK - BK Opalen
Uddevalla BF - Amals BS
Filbyter Bridge

Anderstorps BK - BK Lyx
Storsjobygdens BK

BK S:t Erik - Valdemarsviks BK
Ryds BK - Vaxjébridgen

Gavle BK

BK S:t Erik

Smedstadens BK
Uppsalabridgen - BK S:t Erik
Skovde BA - Hjo BS
Lindesbergs BS

Uppsalabridgen

BK Hudik

RD Trivselbridge - Karlstads BK
Karlstads BK

Uppsalabridgen

Lindesbergs BS

BK S:t Erik

Asal/Frilles&s BK - Kungsbacka BS
BK S:t Erik - BK Bridgeliv

BK Opalen

Arla BK - BK S:t Erik

Skutskars BK

Frélunda BS

Sydjamten -
Valdemarsviks BK - Overums BK
BK Opalen

Filbyter Bridge

BK Lyx - Storsjébygdens BK
Filbyter Bridge

Sdélvesborgs BK - Malmé BK
Lindesbergs BS .
Valdemarsviks BK - Overums BK
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86 535 -1831 Niclas Ornerdal - Marie Gothberg 13085 19806 Norrkdpingsbridgen - Orebridgen
87 531 -2023 Helen Uliczka - Ann-Christin Ahlstrom 31853 31274 Lindesbergs BS - Orebridgen
88 528 -2073 Leif Erlandsson - Karin Erlandsson 45510 45509 Orebridgen
89 623 -2095 Lars Hamberg - Ulla Ridderstad 3696 25973 BK Opalen
90 534 -2172  Johnny Hofseth - Anders Kristiensen 60232 +620  Norrkdpingsbridgen - Norge
91 529 -2266 Lennart Karlsson - Gun Karlsson 1196 1201  Filbyter Bridge
92 538 -2311  Simon Hult - William Hernebrink 36107 41017 Filbyter Bridge
93 560 -2327 Johan Englund - Maria Calissendorff 53131 79968 BK S:t Erik
94 453 -2669 Claes Bodin - Teo Bodin 11300 36833 Karlstads BK
95 435 -2894  Alf Roos - Bengt Nilsson 92856 10267 Lunds BK
96 659 -3100 Birgitta Samuelsson - Carina Halvorsen 15036 91477 Kopings BS - Vanersborgs BS
97 552 -3227 Inger Mork - Claes Engdahl 86266 3095 Karlstads BK - RD Trivselbridge
98 643 -3238  Mari Segerberg - Judit Derzsi-Jalgard 45646 52692 BK Bridgehuset
99 657 -3249  Alf Putzen - Tommy Rydberg 45860 45857 BK Opalen
100 548 -3263 Michael Andersen - Sanna Andersen 94074 79540 BK Opalen - Majstangens BK
101 432 -3433  Kent Backstrom - Hakan Persson 11196 12948 AlIno BK - Nora BK
102 424 -3644  Kenneth Béackstrom - Lars Olsson 9185 2795 BK Bridgeliv - Uppsalabridgen
103 650 -3695  Urban Nilsson - Emma Karlsson 89351 58290 Luled BK
104 421 -3726  Lars Marcusson - Kerstin Marcusson 15446 16365 Orebridgen
105 445 -4377  Olga Frampol - Larisa Feldman +685  +686 Russia |
106 523 -5164  Robert Storm - Gerdmarie Zall 92042 85196 Nora BK - Orebridgen
1 21094 Bésta kontrakt 2 4973 Bésta kontrakt 3 &« K9 Bésta kontrakt
Nord v D632 5NT O =-460 Ost v EKKn ANT N =630 Syd vE3 3NT S =400
Ingen 1072 NS ¢ EKn76 ov + EKn10743
#Kn62 & ¢ v & NT »E85 & ¢ v & NT *E54 & ¢ v & NT
« EKD863 & Kn2 N55101 4102 « KD8 N8 7 6 1010 4Knl072 & E65 N 8 108 8 9
vK5 vEKn10987 S 55 1 0 1 v10984 v D532 S 88 6 109 vD1096 vK8 S 8 108 8 9
¢ Kn8 ¢ EK3 o7 7 111111 ¢+ K4 ¢ D9832 0557 33 + D65 4982 O4 3453
D97 »108 vV 77 111111 #KKn762 &9 V55733 *92 #Kn10873 V 4 3 4 5 3
475 4 EKn654 4 D843
va v76 v Kn7542
+ D9654 + 105 *K
#EK543 #D1043 »KD6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
449 432 6v O-2 &K 100 536.0 -536.0 |547 534 3NN +2 &9 660 517.0 -517.0 |631 650 6¢ N = «J 920 564.0 -564.0
424 457 64 V-1 #6 50 495.0 -495.0 |422 459 44 S+1 ¢K 650 517.0 -517.0 (424 458 3N S+2 &2 460 128.0 -128.0
425 456 5v O-1 #K 50 495.0 -495.0 (425 456 3NN+1 ¢3 630 489.0 -489.0 (449 434 3NN+2 4A 460 128.0 -128.0
431 450 5v O-1 #A 50 495.0 -495.0 (449 432 44 S= 4T 620 487.0 -487.0 (450 433 3NS+2 47 460 128.0 -128.0
554 527 5v O-1 vK 50 495.0 -495.0 |524 557 44 S= +K 620 487.0 -487.0 (643 638 3NS+2 47 460 128.0 -128.0
644 643 44 V-1 &2 50 495.0 -495.0 (545 536 44 N = ¢+8 620 487.0 -487.0 |645 636 3NS+2 &9 460 128.0 -128.0
422 459 4v O= #A -420 -18.0 18.0(553 528 44 N = 9 620 487.0 -487.0 (647 634 3NS+2 47 460 128.0 -128.0
429 452 4v O= &A -420 -18.0 18.0 (454 427 3NN= v3 600 472.0 -472.0 (649 632 3NS+2 47 460 128.0 -128.0
444 437 4v O= #A -420 -18.0 18.0(624 659 3NN = +3 600 472.0 -472.0 (655 626 3NN +2 &7 460 128.0 -128.0
453 428 4v O= #&A -420 -18.0 18.0(535546 3vDV-2 43 300 209.0 -209.0 |426 456 3NS+1 &9 430 78.0 -78.0
454 427 4v O= &A -420 -18.0 18.0(556 525 4vDO-2 #A 300 209.0 -209.0 (430 453 3NN+1 &J 430 78.0 -78.0
455 426 4v O= #A -420 -18.0 18.0(554 527 14 O-4 +T 200 99.0 -99.0|436 447 3NS+1 42 430 78.0 -78.0
460 421 4v O= #&A -420 -18.0 18.0(644 643 24 S+3 vT 200 99.0 -99.0 |446 437 4ANS= ¢6 430 78.0 -78.0
523 558 4y O= &A -420 -18.0 18.0|423 458 24 S+2 T 170 63.0 -63.0(448 435 3NS+1 47 430 78.0 -78.0
524 557 4v O= &A -420 -18.0 18.0|445 436 24 N+2 8 170 63.0 -63.0 (454 429 3NS+1 4J 430 78.0 -78.0
529 552 4v O= &A -420 -18.0 18.0|451 430 24 N+2 6 170 63.0 -63.0 (455 428 3NS+1 4J 430 78.0 -78.0
543 538 4y O= &A -420 -18.0 18.0|548 533 24 N+2 &9 170 63.0 -63.0(460 422 3NN+1 #J 430 78.0 -78.0
547 534 4v O= &A -420 -18.0 18.0|652 631 34 N+1 3 170 63.0 -63.0(521 523 3NN+1 #J 430 78.0 -78.0
549 532 4v O= &A -420 -18.0 18.0|657 626 24 N+2 ¢3 170 63.0 -63.0(525558 3NS+1 4J 430 78.0 -78.0
551 530 4v O= &A -420 -18.0 18.0|660 622 24 S+2 ¢K 170 63.0 -63.0|532 551 3NN+1 &6 430 78.0 -78.0
553 528 4v O= &A -420 -18.0 18.0(621 623 INN+2 &9 150 25.0 -25.0|536 547 3NS+1 &J 430 78.0 -78.0
555 526 44 V= 4T -420 -18.0 18.0(625658 2NN+1 ¥3 150 25.0 -25.0|546 537 3NN+1 &7 430 78.0 -78.0
559 522 4v O= &A -420 -18.0 18.0|447 434 24 S+1 &2 140 25.0 -25.0|549 534 4ANS= «J 430 78.0 -78.0
560 521 4v O= &A -420 -18.0 18.0|455 426 34 N= +9 140 25.0 -25.0|552 531 3NS+1 &7 430 78.0 -78.0
621 623 4v V= #K -420 -18.0 18.0|529 552 24 N+1 #9 140 25.0 -25.0|556 527 3NS+1 #9 430 78.0 -78.0
624 659 44 V= 42 -420 -18.0 18.0(531 550 34 N= &9 140 25.0 -25.0|560 522 3NS+1 &J 430 78.0 -78.0
625 658 4v O= &A -420 -18.0 18.0|543 538 24 S+1 ¢K 140 25.0 -25.0(623 658 3NS+1 #9 430 78.0 -78.0
632 651 4v O= &A -420 -18.0 18.0|555 526 24 S+1 ¢T 140 25.0 -25.0(624 657 3NN+1 #3 430 78.0 -78.0
646 637 4v O= &A -420 -18.0 18.0|560 521 24 N+1 &9 140 25.0 -25.0(635 646 3NS+1 &J 430 78.0 -78.0
650 633 4v O= &A -420 -18.0 18.0|654 629 24 N+1 &9 140 25.0 -25.0|644 637 3NN+1 #J 430 78.0 -78.0
655 628 4v O= &A 420 -18.0 18.0|444 437 24 S= v8 110 -23.0 23.0(|651 630 3NS+1 &9 430 78.0 -78.0
656 627 4v O= &A -420 -18.0 18.0|448 433 24 N= 9 110 -23.0 23.0(656 625 3NN+1 #J 430 78.0 -78.0
657 626 4v O= &A -420 -18.0 18.0|551 530 24 S= vT 110 -23.0 23.0(659 622 3NN+1 4J 430 78.0 -78.0
435 446 44 V+1 &2 450 -69.0 69.0(636 647 24 S= ¢+K 110 -23.0 23.0(|660 621 3NS+1 42 430 78.0 -78.0
448 433 44 V+1 #2 450 -69.0 69.0(429 452 INN= ¢2 90 -43.0 43.0 (421 427 3NN= &J 400 34.0 -34.0
451 430 44 V+1 ¢2 450 -69.0 69.0(523 558 2¢v V-1 vA 50 -88.0 88.0|425 457 3NS= 4J 400 34.0 -34.0
531 550 4v O+1 #A -450 -69.0 69.0(632 651 2v V-1 vA 50 -88.0 88.0(452 431 3NS= v9 400 34.0 -34.0
535 546 44 V+1 #2 -450 -69.0 69.0(424 457 44 S-1 ¢T -100 -244.0 244.0|524 559 3NN = &7 400 34.0 -34.0
544 537 4v O+1 &A -450 -69.0 69.0|453 428 44 N-1 &9 -100 -244.0 244.0|545 538 3N S = #9 400 34.0 -34.0
545 536 44 V+1 &2 -450 -69.0 69.0|460 421 3NN-1 v2 -100 -244.0 244.0|548 535 3NN = 3 400 34.0 -34.0
556 525 44 V+1 #2 -450 -69.0 69.0(559 522 24 N-1 2 -100 -244.0 244.0|554 529 3NN = «J 400 34.0 -34.0
630 653 44 V+1 &J -450 -69.0 69.0|646 637 44 S-1 ¢T -100 -244.0 244.0|557 526 3N N = 6 400 34.0 -34.0
636 647 4v O+1 &A -450 -69.0 69.0|655 628 2NN-1 ¢3 -100 -244.0 244.0629 652 3NN = «J 400 34.0 -34.0
645 638 44 V+1 2 -450 -69.0 69.0 (656 627 34 S-1 ¢K -100 -244.0 244.0|653 628 3NN = &J 400 34.0 -34.0
648 635 44 V+1 &2 450 -69.0 69.0(431 450 44 N-2 4Q -200 -350.0 350.0|423 459 2¢ S+2 #9 130 -285.0 285.0
649 634 44 V+1 &2 450 -69.0 69.0|544 537 44 S-2 v8 -200 -350.0 350.0 |654 627 2¢ N+2 #J 130 -285.0 285.0
652 631 44 V+1 &2 -450 -69.0 69.0|630 653 2NN-2 3 -200 -350.0 350.0|432 451 3NN-1 &J -50 -458.0 458.0
654 629 4v O+1 &A -450 -69.0 69.0|645 638 44 N-2 3 -200 -350.0 350.0|445 444 4v S-1 4] -50 -458.0 458.0
660 622 44 O+1 &6 -450 -69.0 69.0(648 635 3NN-2 3 -200 -350.0 350.0 |544 543 3NN-1 43 -50 -458.0 458.0
447 434 44 V+2 #2480 -114.0 114.0 (649 634 44 N-2 &9 -200 -350.0 350.0|550 533 5¢ N-1 &J -50 -458.0 458.0
548 533 4v O+2 &7 -480 -114.0 114.0|435 446 2v S-3 ¢K -300 -445.0 445.0|555 528 4ANN-1 &6 -50 -458.0 458.0
423 458 54DN-4 vA -800 -454.0 454.0 (549 532 3NN-3 42 -300 -445.0 445.0|530 553 4y S-2 &9 -100 -509.0 509.0
445 436 54DN-6 4J -1400 -739.0 739.0 (650 633 3NDN-3 ¢2 -800 -713.0 713.0|648 633 4y S-2 ¢Q -100 -509.0 509.0
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4 4 E1072 Basta kontrakt 5 4 D75 Basta kontrakt 6 & K5432 Basta kontrakt
Vast v EKn62 54 N =650 Nord v 10865 5NT N =660 Ost v 7543 5NT O =-660
Alla + EK53 NS ¢ 765 ov + 86
&2 & ¢ v & NT & KKn7 & ¢ v & NT &52 & ¢ v & NT
& Kn6é 4 K43 N 8 9 111110 4K94 4108 N 9 10111111 496 4EDKN108 N 4 2 2 2 2
v KD9 v 874 S 8 9 111110 vKn43 v972 S 9 10111111 vEDKNn92 v6 S 42222
+ D106 ¢ Kn987 054223 4432 +KD108 043111 ¢ E1053 ¢ KD4 09 11111111
#Kn10874 #D95 V54223 #8543 #10962 V443111 K6 £10987 vV 9 11111111
4 D985 & EKn632 a7
v 1053 v EKD v K108
42 + EKn9 4+ Kn972
#EK63 *ED #EDKn43
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
424 458 44 S+1 vK 650 185.0 -185.0 |431 454 6N S = v3 1440 642.0 -642.0 1522 524 44 O-1 ¢7 100 570.0 -570.0
425 457 44 S+1 vK 650 185.0 -185.0 |646 645 6N S = v3 1440 642.0 -642.0 1533 552 3NV -1 &5 100 570.0 -570.0
426 456 44 S+1 vK 650 185.0 -185.0 |531 554 64 S = &4 1430 625.0 -625.0 |537 548 44 O-1 7 100 570.0 -570.0
430 453 44 N+1 &3 650 185.0 -185.0 |648 643 64 S = &8 1430 625.0 -625.0 (549 536 44 O-1 8 100 570.0 -570.0
454 429 44 S+1 #J 650 185.0 -185.0 |547 538 2¢ RDN= T 760 92.0 -92.0|632 655 44 O-1 #A 100 570.0 -570.0
455 428 44 S+1 #J 650 185.0 -185.0 (421 429 3NS+3 ¥3 690 -5.0 5.01648 643 44 O-1 +8 100 570.0 -570.0
525 558 44 S+1 vK 650 185.0 -185.0 |424 459 3NN +3 44 690 -5.0 5.0|449 436 2y V+1 &5 -140 421.0 -421.0
536 547 44 S+1 vK 650 185.0 -185.0 (437 448 3N S+3 #3 690 -5.0 5.0 [556 529 3v V= &5 -140 421.0 -421.0
544 543 44 S+1 «6 650 185.0 -185.0 (446 445 3N S+3 &7 690 -5.0 5.0|557 528 2v V+1 ¢8 -140 421.0 -421.0
549 534 44 S+1 vK 650 185.0 -185.0 |447 444 3N S+3 &5 690 -5.0 5.01638 649 3v V+1 &5 -170 392.0 -392.0
552 531 44 S+1 vK 650 185.0 -185.0 |455 430 3NS+3 &3 690 -5.0 5.0|560 523 2NV +3 ¥4 -210 364.0 -364.0
557 526 44 S+1 vK 650 185.0 -185.0 [522 524 AN S+2 v4 690 -5.0 5.0 (453 432 24D S-3 49 -500 82.0 -82.0
624 657 44 S+1 #J 650 185.0 -185.0 |545 544 3N S+3 #4 690 -5.0 5.0 1450 435 3N O = #3 -600 -25.0 25.0
629 652 44 S+1 #J 650 185.0 -185.0 |546 543 3N S+3 ¢5 690 -5.0 5.0 1627 621 3N O = &3 -600 -25.0 25.0
643 638 44 S+1 vK 650 185.0 -185.0 [549 536 4N S +2 #4 690 -5.0 5.0 |545 544 44 O = ¢7 -620 -63.0 63.0
644 637 44 N+1 48 650 185.0 -185.0 [550 535 3N S+3 #4 690 -5.0 5.0 [555 530 44 O = ¢+6 -620 -63.0 63.0
649 632 44 S+1 vK 650 185.0 -185.0 |551 534 3N S+3 &5 690 -5.0 5.0 (426 457 3NV+1 5 -630 -64.0 64.0
653 628 44 S+1 &J 650 185.0 -185.0 |555 530 3NN +3 &9 690 -5.0 5.0 (427 456 3NO+1 ¢7 -630 -64.0 64.0
654 627 44 S+1 vK 650 185.0 -185.0 |626 622 3N S+3 &4 690 -5.0 5.0 (431 454 3NV +1 &5 -630 -64.0 64.0
656 625 44 S+1 #J 650 185.0 -185.0 (638 649 3N S+3 #4 690 -5.0 5.0(433 452 3NO+1 #J -630 -64.0 64.0
659 622 44 S+1 &J 650 185.0 -185.0 [652 635 3N S+3 44 690 -5.0 5.0 (437 448 3NO+1 43 -630 -64.0 64.0
660 621 44 S+1 #J 650 185.0 -185.0 [658 629 4N S +2 #4 690 -5.0 5.0 (460 423 3NO+1 #J -630 -64.0 64.0
555 528 3NS+1 &J 630 137.0 -137.0 |450 435 44 S+2 v3 680 -7.0 7.0/526 559 3NO+1 #A -630 -64.0 64.0
421 427 44 S= &4 620 135.0 -135.0 (453 432 44 S+2 v3 680 -7.0 7.0|546 543 3NO+1 &5 -630 -64.0 64.0
432 451 44 S= +5 620 135.0 -135.0 [533 552 44 S+2 ¥v3 680 -7.0 7.0(550 535 3NV+1 48 -630 -64.0 64.0
445 444 4e S = vK 620 135.0 -135.0 |556 529 44 S+2 ¢2 680 -7.0 7.0(558 527 3NO+1 #J -630 -64.0 64.0
446 437 44 S= vK 620 135.0 -135.0 |557 528 44 S+2 v3 680 -7.0 7.01634 653 3NO+1 #J -630 -64.0 64.0
448 435 44 S= vK 620 135.0 -135.0 (627 621 44 S+2 &5 680 -7.0 7.0(646 645 3NV+1 &5 -630 -64.0 64.0
452 431 44 S= vK 620 135.0 -135.0 |632 655 44 S+2 vJ 680 -7.0 7.0(652 635 3NO+1 #Q -630 -64.0 64.0
460 422 44 S= vK 620 135.0 -135.0 (422 428 3N S+2 &4 660 -54.0 54.0(451 434 44 O+1 ¢7 -650 -112.0 112.0
521 523 44 S= 8 620 135.0 -135.0 (426 457 3NN+2 +K 660 -54.0 54.0(623 625 44 O+1 &A -650 -112.0 112.0
524 559 44 S= vK 620 135.0 -135.0 |427 456 3NS+2 ¢4 660 -54.0 54.01654 633 4v V+1 &5 -650 -112.0 112.0
530 553 44 S= &J 620 135.0 -135.0 (433 452 3NS+2 +2 660 -54.0 54.0|421 429 3NV +2 &#5 -660 -113.0 113.0
532 551 44 S= &) 620 135.0 -135.0 (449 436 3NS+2 +5 660 -54.0 54.0|422 428 3NO+2 7 -660 -113.0 113.0
545 538 44 S= vK 620 135.0 -135.0 |451 434 3NS+2 ¢2 660 -54.0 54.01424 459 3NO+2 ¢4 -660 -113.0 113.0
546 537 44 S= vK 620 135.0 -135.0 (460 423 3NS+2 +6 660 -54.0 54.0|425 458 3NV +2 7 -660 -113.0 113.0
548 535 44 S= &) 620 135.0 -135.0 [525 521 3N S+2 +2 660 -54.0 54.0|525 521 3NO+2 #J -660 -113.0 113.0
560 522 44 S= vK 620 135.0 -135.0 |558 527 3NN +2 ¢K 660 -54.0 54.0|531 554 3NO+2 ¢7 -660 -113.0 113.0
651 630 44 S= &J 620 135.0 -135.0 560 523 3NS+2 +2 660 -54.0 54.0)|547 538 3NV +2 &5 -660 -113.0 113.0
554 529 24 N+3 #J 200 -305.0 305.01623 625 3NN+2 ¢K 660 -54.0 54.0|553 532 3NV+2 8 -660 -113.0 113.0
631 650 34 S+2 &J 200 -305.0 305.01634 653 3NN+2 ¢Q 660 -54.0 54.0(626 622 3NO+2 8 -660 -113.0 113.0
436 447 34 S+1 #J 170 -326.0 326.0 (650 637 3NN+2 ¢K 660 -54.0 54.0(650 637 3NV+2 &5 -660 -113.0 113.0
645 636 24 S+2 &7 170 -326.0 326.0|654 633 3NS+2 ¢3 660 -54.0 54.0|651 636 3NO+2 #J -660 -113.0 113.0
550 533 34 S= vK 140 -362.0 362.0 |425 458 44 N+1 &5 650 -54.0 54.0|656 631 3NO+2 7 -660 -113.0 113.0
423 459 44 S-1 #J -100 -521.0 521.0 (537 548 44 S+1 ¢4 650 -54.0 54.0(657 630 3INO+2 &A -660 -113.0 113.0
449 434 44 S-1 vK -100 -521.0 521.0 (553 532 44 S+1 v6 650 -54.0 54.0(658 629 3NV +2 8 -660 -113.0 113.0
450 433 3NN-1 8 -100 -521.0 521.0 (647 644 44 S+1 ¢2 650 -54.0 54.0(659 628 3NV +2 6 -660 -113.0 113.0
556 527 44 S-1 #J -100 -521.0 521.0 (659 628 44 S+1 ¢4 650 -54.0 54.01660 624 3NV +3 ¢5 -690 -155.0 155.0
623 658 44 S-1 vK -100 -521.0 521.0|660 624 44 N+1 ¢K 650 -54.0 54.0)446 445 24D S-4 49 -800 -284.0 284.0
635 646 44 S-1 #J -100 -521.0 521.0 (656 631 3NS+1 ¢4 630 -102.0 102.0|647 644 2vyDN-4 &T -800 -284.0 284.0
647 634 64 S-1 &4 -100 -521.0 521.0 (657 630 3NS+1 2 630 -102.0 102.0 |447 444 2vyDN-5 ¥6 -1100 -539.0 539.0
648 633 44 S-1 &#J -100 -521.0 521.0|651 636 24 N+3 ¢K 200 -524.0 524.0 (455 430 24D S-5 49 -1100 -539.0 539.0
655 626 64 S-2 vK -200 -575.0 575.0|526 559 64 N-1 ¢6 -100 -684.0 684.0 (551 534 44DN-6 ¥v6 -1400 -681.0 681.0
7 49 Bésta kontrakt 8 4973 Bésta kontrakt 9 & EKD7 Bésta kontrakt
Syd v K9754 4% S D -1-200 Vast v EK9 4¢ V =-130 Nord v 1087 44 N D -3 -500
Alla * K2 Ingen ¢ E92 ov +95
#106532 & ¢ v & NT «D1076 & ¢ v & NT #Kn962 & ¢ v & NT
4 K108643 & E752 N9 6 8 4 4 4E1086 4K N5356 4 4Kn8652 43 N8 43765
v32 v EKn S96 844 v DKn v 10842 S5356 4 v94 vEKDKN63 S 8 4 3 7 5
4 863 ¢ Kn1097 047 499 + K10875 ¢ DKn43 O 6 108 7 8 + 106 ¢ EKn732 O5 9 106 8
98 &EK4 V47499 #93 &#EK85 V 6 108 7 8 #10853 &E V5996 8
& DKn 4 DKn542 41094
vD1086 v 7653 v52
+ ED54 +6 + KD84
#DKn7 #Kn42 #KD74
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
428 456 4vyDN= 46 790 704.0 -704.0 |1427 457 3NO-1 42 50 255.0 -255.0 |452 437 5vDO-2 v2 500 618.0 -618.0
423 429 2v N+2 +J 170 302.0 -302.0 |426 458 24 N-1 *Q -50 129.0 -129.0 (433 421 34 O-4 +K 400 543.0 -543.0
426 458 2v N+2 ¢J 170 302.0 -302.0 |434 453 24 S-1 &9 -50 129.0 -129.0 (429 456 5¢D O -1 #K 200 410.0 -410.0
460 424 2v N+2 #K 170 302.0 -302.0 |[452 435 24 S-1 &9 -50 129.0 -129.0 [543 550 5v O-2 49 200 410.0 -410.0
538 549 3v N+1 &A 170 302.0 -302.0 |547 544 24 S-1 ¢Q -50 129.0 -129.0 (445 450 4v O-1 &K 100 308.0 -308.0
646 643 2v N+2 &A 170 302.0 -302.0 1625 621 24 S-1 ¢Q -50 129.0 -129.0 (448 447 5v O-1 «T 100 308.0 -308.0
633 652 3v S= &9 140 276.0 -276.0 |631 654 24 S-1 &9 -50 129.0 -129.0 (449 446 4v O-1 44 100 308.0 -308.0
650 635 2v N+1 &K 140 276.0 -276.0 |633 652 24 S-1 &9 -50 129.0 -129.0 (521 529 4v O-1 T 100 308.0 -308.0
651 634 3v N= &A 140 276.0 -276.0 |647 638 14 N-1 42 -50 129.0 -129.0 (524 526 4y O-1 «T 100 308.0 -308.0
658 627 2v S= &9 110 234.0 -234.0|655 630 24 S-1 &9 -50 129.0 -129.0 (549 544 4v O-1 &K 100 308.0 -308.0
532 555 44 V-1 ¢K 100 234.0 -234.0 1422 430 24 S-2 vQ -100 52.0 -52.0(553 536 4v O-1 4T 100 308.0 -308.0
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534 553 44 V-1 ¢K 100 234.0 -234.0 (425 459 24 N-2 &A -100 520 -52.0|555534 2¢ V-1 +¢A 100 308.0 -308.0
552 535 44 V-1 ¢K 100 234.0 -234.0 |454 433 1¢ N-2 #A -100 52.0 -52.0|559 530 4v O-1 #K 100 308.0 -308.0
556 531 44 V-1 ¢K 100 234.0 -234.0 (538 549 24 S-2 &9 -100 520 -52.0|621 631 4v O-1 &K 100 308.0 -308.0
622 624 34 V-1 v4 100 234.0 -234.0 (550 537 INN-2 3 -100 520 -52.0|628 624 4v O-1 +T 100 308.0 -308.0
625 621 44 V-1 v4 100 234.0 -234.0 |556 531 24 S-2 vQ -100 52.0 -52.0(629 623 4v O-1 T 100 308.0 -308.0
649 636 44 V-1 v4 100 234.0 -234.0 (559 528 24 S-2 vQ -100 520 -52.0|634 657 4v O-1 &K 100 308.0 -308.0
657 628 44 V-1 v4 100 234.0 -234.0 (622 624 24DS-1 ¢vQ -100 520 -52.0|644 651 4v O-1 &K 100 308.0 -308.0
425 459 3v S-1 #9 -100 -8.0 8.0(626 659 INN-2 3 -100 52.0 -52.0(649 646 4v O-1 #K 100 308.0 -308.0
526 522 3v S-1 &9 -100 -8.0 8.0|649 636 1# N-2 &K -100 520 -52.0(653 638 4v O-1 49 100 308.0 -308.0
547 544 3v S-1 #9 -100 -8.0 8.0|651 634 24 N-2 #A -100 52.0 -52.0(658 633 4v O-1 ¢2 100 308.0 -308.0
548 543 3¢ S-1 v2 -100 -8.0 8.0 (658 627 24 S-2 #9 -100 52.0 -52.0(660 626 2N O = 9 -120 111.0 -111.0
560 524 3v S-1 &9 -100 -8.0 8.0|447 446 1v O+1 ¢6 -110 45.0 -45.0(451 444 3v O= T -140 810 -81.0
421 431 34 V= ¢K -140 -52.0 52.0(558 529 2v V= #7 -110 450 -45.0(535554 2v O+1 T -140 810 -81.0
422 430 34 V= ¢K -140 -52.0 520646 643 2¢ V+1 43 -110 450 -450(654 637 1v O+2 T -140 81.0 -81.0
427 457 34 V= ¢K -140 -52.0 52.0(423 429 2¢ O+2 #2 -130 13.0 -13.0|422 432 3vy O+1 ¢K -170 50.0 -50.0
434 453 34 V= ¢K -140 -52.0 52.0(428 456 3¢ V+1 vA -130 13.0 -13.0|435454 29y O+2 4T -170 50.0 -50.0
444 449 3e V= ¢K -140 -52.0 52.0(432 455 2¢ O+2 %6 -130 13.0 -13.0(455434 3v O+1 #K -170 50.0 -50.0
447 446 34 O = v8 -140 -52.0 52.0(448 445 44 O= 2 -130 13.0 -13.0(523 527 2v O+2 T -170 50.0 -50.0
448 445 34 O = v8 -140 -52.0 52.0(451 436 2¢ V+2 K -130 13.0 -13.0|533 556 3vy O+1 44 -170 50.0 -50.0
450 437 34 V= &2 -140 -52.0 52.0|460 424 3¢ V+1 43 -130 13.0 -13.0|656 635 2y O+2 ¢K -170 50.0 -50.0
451 436 34 V= ¢K -140 -52.0 520523525 2¢ V+2 49 -130 13.0 -13.0(557 532 44DS-2 v9 -300 -71.0 710
452 435 34 V= ¢K -140 -52.0 52.0|557 530 2¢ V+2 &7 -130 13.0 -13.0(423 431 4v O = ¢+K -620 -363.0 363.0
527 521 34 V= ¢K -140 -52.0 52.0(560 524 2¢ V+2 vA -130 13.0 -13.0 (424 430 4v O = ¢Q -620 -363.0 363.0
551 536 34 V= v4 -140 -52.0 52.0(653 632 2¢ V+2 #3 -130 13.0 -13.0 (426 459 4y O = ¢+K -620 -363.0 363.0
557 530 34 V= 9 -140 -52.0 52.0(656 629 2¢ V+2 vA -130 13.0 -13.0|427 458 4y O= 4  -620 -363.0 363.0
558 529 34 V= ¢K -140 -52.0 52.0(660 623 3¢ V+1 47 -130 13.0 -13.0 (428 457 4y O = ¢K -620 -363.0 363.0
559 528 24 V+1 ¢K -140 -52.0 52.0(421 431 2¢ V+3 43 -150 -32.0 32.0|453 436 4y O = 4  -620 -363.0 363.0
631 654 34 V= ¢K -140 -52.0 52.0(532 555 24 S-3 &9 -150 -32.0 32.0|460 425 4v V= A -620 -363.0 363.0
637 648 34 O= v4  -140 -52.0 52.0(546 545 24 N-3 #A -150 -32.0 32.0(547 546 4y O= T -620 -363.0 363.0
656 629 3e V= ¢K -140 -52.0 52.0(551 536 24 S-3 vQ -150 -32.0 32.0|548 545 4y O= v5 -620 -363.0 363.0
660 623 34 O = v6 -140 -52.0 52.0(645 644 INV+2 &7 -150 -32.0 32.0|551 538 4y O= v5 -620 -363.0 363.0
432 455 24 O+2 4Q -170 -94.0 94.0(650 635 3# N-3 4K -150 -32.0 32.0|552 537 4y O= v5 -620 -363.0 363.0
550 537 34 O+1 ¥8 -170 -94.0 94.0(657 628 INO+2 &2 -150 -32.0 32.0|558 531 4y O = ¢K -620 -363.0 363.0
626 659 34 V+1 v4 -170 -94.0 94.0(526 522 34 S-4 &9 -200 -98.0 98.0(622 630 4y O = v2 -620 -363.0 363.0
655 630 4v S-2 #9 -200 -133.0 133.0|527 521 1¢ N-4 3 -200 -98.0 98.0(625 627 4v O= «T -620 -363.0 363.0
454 433 4vDS-2 3 -500 -419.0 419.0|554 533 1¢ N-4 &A -200 -98.0 98.0|636 655 4v O = &K -620 -363.0 363.0
647 638 4vDN-2 44 -500 -419.0 419.0 (444 449 24DN-2 #9 -300 -222.0 222.0|648 647 4y O = v5 -620 -363.0 363.0
653 632 4vyDN-2 #A -500 -419.0 419.0 |450 437 24DS-2 vQ -300 -222.0 222.0|650 645 4v O = «T -620 -363.0 363.0
523 525 4vDN-3 #K -800 -612.0 612.0 (552 535 24D S-2 5 -300 -222.0 222.0|659 632 44 O = v2 -620 -363.0 363.0
546 545 5¢DS-3 #5 -800 -612.0 612.0 (534 553 3N O = ¢2 -400 -333.0 333.0(528 522 4v O+1 K -650 -404.0 404.0
554 533 5¢vDS-3 44 -800 -612.0 612.0|548 543 3NO+1 #J -430 -373.0 373.0|560 525 4v O+1 #K -650 -404.0 404.0
645 644 5vDS-3 44 -800 -612.0 612.0 (637 648 34DS-3 vQ -500 -441.0 441.0(652 643 3vyDO= 44 -730 -458.0 458.0
10 .- Basta kontrakt 11 & E5432 Basta kontrakt 12 « D964 Basta kontrakt
Ost v75 24 O =-110 Syd v3 34 S =110 Vast v Kn53 6NT V =-990
Alla + E109842 Ingen 41095 NS ¢ EKn9
#76532 & ¢ v & NT +D754 & ¢ v & NT #Kn86 & ¢ v & NT
« DKn865 41094 N7 7 655 4 K987 4 DKnl0 N9 6 766 41075 4 EKKn2 N3 1121
vKD863 v2 S776565 vKn654 vEK7 S96 766 vEKD72 v96 S31121
¢- ¢DKn7653 O 6 6 7 8 7 ¢DKn4 #8732 036667 + K8 +D1074 O 1011121112
#ED4 #KKn9 V66787 &E3 #1098 V 36667 #753 #EK9 V 1011121112
& EK732 46 # 83
v EKn1094 vD10982 v 1084
+ K + EK6 46532
108 #KKn62 #D1042
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
429 456 3¢DO-2 4A 500 537.0 -537.0 (627 623 3¢ O-3 46 150 122.0 -122.0 (521 531 3NV -1 #J 50 557.0 -557.0
460 425 2¢DO-2 «A 500 537.0 -537.0 (428 458 2# S+2 &7 130 98.0 -98.0|550 545 4NV-1 #6 50 5567.0 -557.0
428 457 3¢ O-4 A 400 461.0 -461.0 |450 447 2& S+2 &A 130 98.0 -98.0|544 551 44 O= &4  -420 62.0 -62.0
555534 2¢ V-3 ¢A 300 373.0 -373.0 (452 445 3# N+1 &T 130 98.0 -98.0|427 459 3NV+1l #6 -430 62.0 -62.0
634 657 2v V-3 ¢A 300 373.0 -373.0 (460 426 3# S+1 v5 130 98.0 -98.0|434 422 3NO+1 #4 -430 62.0 -62.0
426 459 2v V-2 v7 200 275.0 -275.0 (529 523 2# S+2 +Q 130 98.0 -98.0|450 447 3NV+1 #6 -430 62.0 -62.0
433 421 2v V-2 +A 200 275.0 -275.0 [556 535 2# S+2 ¢Q 130 98.0 -98.0|452 445 3NV+1l #6 -430 62.0 -62.0
435 454 2v V-2 #2 200 275.0 -275.0 (559 532 24 S+2 +Q 130 98.0 -98.0|624 626 3NV+1 &6 -430 620 -62.0
451 444 2v V-2 #5 200 275.0 -275.0 (621 629 2# S+2 +Q 130 98.0 -98.0|627 623 3NV+1l #6 -430 62.0 -62.0
535554 2¢ V-2 ¢A 200 275.0 -275.0 (649 644 34 S+1 ¢Q 130 98.0 -98.0|633 656 3NV+1 #6 -430 62.0 -62.0
547 546 2v V-2 #2 200 275.0 -275.0 (653 636 2¢ S+2 +¢Q 130 98.0 -98.0|651 638 3NV+1 &6 -430 620 -62.0
551 538 2¢ V-2 ¢A 200 275.0 -275.0 (425 431 34 N= +Q 110 59.0 -59.0|657 632 3NO+1 #4 -430 62.0 -62.0
621 631 2¢v V-2 &6 200 275.0 -275.0 (427 459 2# S+1 &A 110 59.0 -59.0|430 456 54 O = ¢3 -450 11.0 -11.0
659 632 2v V-2 &6 200 275.0 -275.0 |429 457 3# N = T 110 59.0 -59.0|421 435 3NV+2 #8 -460 11.0 -11.0
660 626 2v V-2 ¢A 200 275.0 -275.0 (434 422 3% N = T 110 59.0 -59.0|423 433 3NV+2 #2 -460 11.0 -11.0
422 432 2v V-1 #2 100 159.0 -159.0 |521 531 3& N = T 110 59.0 -59.0|436 455 3NV+2 #J -460 11.0 -11.0
424 430 2v V-1 #6 100 159.0 -159.0 |522 530 3& S = +Q 110 59.0 -59.0|449 448 3NO+2 #4 -460 11.0 -11.0
427 458 2v V-1 ¢A 100 159.0 -159.0 525 527 2 S+1 #A 110 59.0 -59.0|453 444 3NV+2 #6 -460 11.0 -11.0
445 450 2v V-1 +A 100 159.0 -159.0 |544 551 3& S = «A 110 59.0 -59.0|460 426 3NV+2 #6 -460 11.0 -11.0
453 436 3NV-1 7 100 159.0 -159.0 |549 546 3& N = T 110 59.0 -59.0|522 530 3NO+2 48 -460 11.0 -11.0
455 434 2v V-1 +¢A 100 159.0 -159.0 552 543 2 S+1 &7 110 59.0 -59.0|525 527 3NV+2 46 -460 11.0 -11.0
521 529 2v V-1 &2 100 159.0 -159.0 553 538 2&# S+1 +Q 110 59.0 -59.0|549 546 3NV+2 #6 -460 11.0 -11.0
524 526 2v V-1 &7 100 159.0 -159.0 |554 537 3& N = T 110 59.0 -59.0|552 543 3NV+2 ¢9 -460 11.0 -11.0
533 556 2¢v V-1 ¢A 100 159.0 -159.0 558 533 2 S+1 +Q 110 59.0 -59.0|553 538 3NV+2 #6 -460 11.0 -11.0
552 537 2¢ V-1 ¢A 100 159.0 -159.0 |635 654 2&# S+1 +Q 110 59.0 -59.0|556 535 3NV+2 #6 -460 11.0 -11.0
629 623 2v V-1 &7 100 159.0 -159.0 |648 645 3# S = +8 110 59.0 -59.0(621 629 3NO+2 42 -460 11.0 -11.0
644 651 3NV-1 &2 100 159.0 -159.0 |651 638 1v S+1 #A 110 59.0 -59.0|635 654 3NO+2 #4 -460 11.0 -11.0
652 643 2¢v V-1 ¢A 100 159.0 -159.0 |657 632 2&# S+1 ¢4 110 59.0 -59.0|647 646 3NV+2 #6 -460 11.0 -11.0
653 638 2¢v V-1 ¢A 100 159.0 -159.0 |659 630 2« S+1 +Q 110 59.0 -59.0|652 637 3NV+2 ¢A -460 11.0 -11.0
654 637 2v V-1 &7 100 159.0 -159.0 |660 625 3& N = +3 110 59.0 -59.0|658 631 3NV+2 #6 -460 11.0 -11.0
423 431 2v V= ¢A -110 -54.0 54.0(421 435 24 S= ¢Q 90 26.0 -26.0|425 431 4y O+2 +3 -480 -38.0 38.0
528 522 2v V= ¢A -110 -54.0 54.0(436 455 2¢ S= A 90 26.0 -26.0|655 634 4y V+2 #6 -480 -38.0 38.0
549 544 2v V = ¢A -110 -54.0 54.0(446 451 24 S= ¢+Q 90 26.0 -26.0|428 458 3NV +3 46 -490 -39.0 39.0
559 530 2v V= ¢A -110 -54.0 54.0(454 437 2# S= ¢+Q 90 26.0 -26.0|429 457 3NO+3 43 -490 -39.0 39.0
649 646 2v V= ¢A -110 -54.0 54.0(536 555 2#S= +Q 90 26.0 -26.0]454 437 3NV+3 46 -490 -39.0 39.0
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448 447 2v V+1 #7 -140 -97.0 97.0(624 626 2# S = 8 90 26.0 -26.0|528 524 3NV +3 46 -490 -39.0 39.0
628 624 24 V+1 ¢A -140 -97.0 97.0(628 622 INS-= ¢Q 90 26.0 -26.0|529 523 3NV +3 46 -490 -39.0 39.0
5568 531 24 S-2 vK -200 -152.0 152.0 (652 637 2# S = ¢+Q 90 26.0 -26.0|534 557 3NV+3 46 -490 -39.0 39.0
625 627 3v S-2 v3 -200 -152.0 152.0 (655 634 2# S = ¢Q 90 26.0 -26.0|536 555 3NV+3 46 -490 -39.0 39.0
636 655 14 S-2 vK -200 -152.0 152.0 |424 432 2¢ O-1 46 50 -25.0 25.0|548 547 3NO+3 48 -490 -39.0 39.0
656 635 2¢ S-2 v3 -200 -152.0 152.0 (658 631 2NO-1 &6 50 -25.0 25.0(554 537 3NO+3 42 -490 -39.0 39.0
658 633 3v S-3 v3 -300 -249.0 249.0 (423 433 24 N-1 &5 -50 -161.0 161.0 (558 533 3NV +3 ¢A -490 -39.0 39.0
543 550 5¢ N-4 T -400 -337.0 337.0 (430 456 INS-1 +Q -50 -161.0 161.0 (559 532 3NV +3 44 -490 -39.0 39.0
648 647 14 S-4 vK -400 -337.0 337.0 (449 448 24 N-1 &T -50 -161.0 161.0 (560 526 3NO+3 &4 -490 -39.0 39.0
650 645 34 S-4 vK -400 -337.0 337.0 (548 547 2# S-1 +Q -50 -161.0 161.0 (628 622 3NV +3 46 -490 -39.0 39.0
452 437 3vDS-2 #A -500 -395.0 395.0 |560 526 2& S-1 #A -50 -161.0 161.0 (643 650 3NO+3 &4 -490 -39.0 39.0
523 527 4¢DN-3 v2 -800 -564.0 564.0 (643 650 2#S-1 +Q -50 -161.0 161.0 (648 645 3NV +3 ¢A -490 -39.0 39.0
557 532 5¢DN-3 v4 -800 -564.0 564.0 (647 646 INS-1 +Q -50 -161.0 161.0 (649 644 3NO+3 48 -490 -39.0 39.0
449 446 3vyDN-4 v2 -1100 -690.0 690.0 (534 557 2v S-2 ¢2 -100 -222.0 222.0|653 636 3NV +3 &8 -490 -39.0 39.0
553 536 5#DS-4 #Q -1100 -690.0 690.0|528 524 INO+1 46 -120 -249.0 249.0|659 630 3NV +3 +J -490 -39.0 39.0
560 525 44D S-4 45 -1100 -690.0 690.0 (633 656 INO+1 46 -120 -249.0 249.0 660 625 3NO+3 &2 -490 -39.0 39.0
622 630 24D S-4 vK -1100 -690.0 690.0 (453 444 3NS-3 ¢Q -150 -280.0 280.0 |446 451 6v V= &3 -980 -548.0 548.0
548 545 44DS-5 vK -1400 -801.0 801.0 [550 545 3NS-3 ¢Q -150 -280.0 280.0 |424 432 6NV = &8 -990 -567.0 567.0
13 4 E105 Basta kontrakt 14 a- Basta kontrakt 15 + EKD9 Basta kontrakt
Nord v KD965 INT N =2220 Ost v3 5¢ SD-2-300 Syd v4 2NT S =120
Alla 4982 Ingen + K98762 NS + Kn1063
*Kn7 & ¢ v & NT #EKD852 & ¢ v & NT #E653 & ¢ v & NT
49762 D3 N 1311121313 4 ED104 4876532 N6 96 24 4 Kn763 482 N7 9 8 88
v 10872 vKn43 S 1311121313 v K105 vE94 S796 25 v 753 v DKn102 S7 9888
41075 ¢ KKn43 002100 ¢ E ¢ DKn4 O6 4 6 108 ¢E5 ¢ K987 054545
#65 #10982 V02100 #Kn9643 #10 V 6 3 6 108 #KDKn9 #1084 V54545
4 KKn84 & KKn9 » 1054
vE v DKn8762 v EK986
+ ED6 41053 ¢ D42
#EKD43 *7 @72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
530 524 7N S= v3 2220 725.0 -725.0 (545 552 34DV -3 &#A 500 636.0 -636.0 (521 535 24aDN= 48 670 587.0 -587.0
422 436 7% S = 6 2140 678.0 -678.0 (660 628 3# V-5 ¢33 250 470.0 -470.0 |425 435 3NN = vQ 600 551.0 -551.0
426 432 6N N+1 #8 1470 201.0 -201.0 (425 433 2v N+1 &3 140 380.0 -380.0 (653 644 24 V-4 v4 200 171.0 -171.0
430 457 6N S+1 ¢3 1470 201.0 -201.0 (622 634 3¢ S+1 &3 130 377.0 -377.0 (421 445 INN+2 7 150 102.0 -102.0
435 423 6N S+1 46 1470 201.0 -201.0 (437 421 2¢ S+1 &3 110 340.0 -340.0 |448 453 24 N+1 vQ 140 93.0 -93.0
437 421 6N S+1 42 1470 201.0 -201.0 (451 448 2¢ S+1 &6 110 340.0 -340.0 (538 557 34 N = &4 140 93.0 -93.0
460 427 6N S+1 +5 1470 201.0 -201.0 (537 556 2¢ S+1 &3 110 340.0 -340.0 (637 656 24 N+1 &4 140 93.0 -93.0
526 528 6NS+1 46 1470 201.0 -201.0 (453 446 2¢ S= ¢A 90 328.0 -328.0 (645 652 34 N = vQ 140 93.0 -93.0
553 544 6NN +1 %8 1470 201.0 -201.0 (646 653 44 O-1 &7 50 287.0 -287.0 (660 627 24 N+1 &4 140 93.0 -93.0
554 543 6NS+1 46 1470 201.0 -201.0 {422 436 5¢ N-1 48 -50 184.0 -184.0 (454 447 INN+1 7 120 59.0 -59.0
557 536 6NS+1 46 1470 201.0 -201.0 (549 548 3v S-1 +A -50 184.0 -184.0 (554 545 2N N = ¢7 120 59.0 -59.0
622 634 6NS+1 46 1470 201.0 -201.0 (553 544 5¢ N-1 48 -50 184.0 -184.0 (630 624 INS+1 &K 120 59.0 -59.0
627 629 6NS+1 46 1470 201.0 -201.0 [554 543 5¢ S-1 &A -50 184.0 -184.0 (427 433 2¢ N+1 &T 110 42.0 -42.0
630 626 6NS+1 ¢5 1470 201.0 -201.0 (638 657 2v N-1  &T -50 184.0 -184.0 (431 457 24 N = «8 110 42.0 -42.0
646 653 6N S+1 47 1470 201.0 -201.0 (656 643 5¢ S-1 #A -50 184.0 -184.0 (444 422 24 N = vQ 110 42.0 -42.0
650 649 6NN +1 &2 1470 201.0 -201.0 (424 434 2v N-2 +Q -100 116.0 -116.0 |451 450 24 N = vQ 110 42.0 -42.0
654 645 6NS+1 T 1470 201.0 -201.0 |428 459 5¢DS-1 ¢A -100 116.0 -116.0|522 534 24 N= v3 110 42.0 -42.0
545 552 64 N+1 ¢2 1460 194.0 -194.0 435 423 5¢DS-1 ¢A -100 116.0 -116.0 |524 532 2v S = ¢A 110 42.0 -42.0
431 456 6NN = &T 1440 163.0 -163.0 (447 452 4v S-2 +¢A -100 116.0 -116.0 |527 529 2v N = &3 110 42.0 -42.0
450 449 6NN = ¢4 1440 163.0 -163.0 [450 449 5¢DS-1 #A -100 116.0 -116.0 [556 543 2¢ N+1 &4 110 42.0 -42.0
451 448 6N S = «6 1440 163.0 -163.0 [521 533 5¢ S-2 #6 -100 116.0 -116.0 |654 643 2v S= K 110 42.0 -42.0
455 444 6NN = &T 1440 163.0 -163.0 |555 538 5¢ DN-1 vA -100 116.0 -116.0 (432 456 2¢ O-2 &7 100 29.0 -29.0
523 531 6N S= v7 1440 163.0 -163.0 |557 536 5¢DS-1 #A -100 116.0 -116.0 (436 424 2¢ O-2 &7 100 29.0 -29.0
555 538 6N N = &8 1440 163.0 -163.0 |636 659 5¢ N-2 #T -100 116.0 -116.0 (523 533 14 V-2 &4A 100 29.0 -29.0
621 635 6N S = v7 1440 163.0 -163.0 |652 647 5¢ N-2 48 -100 116.0 -116.0 (546 553 2v O-2 &7 100 29.0 -29.0
624 632 6NN = ¢4 1440 163.0 -163.0 |658 637 5¢DS-1 ¢A -100 116.0 -116.0 (550 549 INDV-1 4A 100 29.0 -29.0
631 625 6N S = +5 1440 163.0 -163.0 |454 445 34 O = ¢3 -140 65.0 -65.0(560 528 INO-2 44 100 29.0 -29.0
651 648 6NN = &8 1440 163.0 -163.0 455 444 3v S-3 #3 -150 54.0 -54.0(622 632 INO-2 44 100 29.0 -29.0
658 637 6N S = &6 1440 163.0 -163.0 |526 528 5# N-3 ¢Q -150 54.0 -54.0(649 648 INO-2 +2 100 29.0 -29.0
521 533 64 S = &2 1430 152.0 -152.0 |624 632 3v N-3 #6 -150 54.0 -54.0(650 647 1vDV-1 «A 100 29.0 -29.0
428 459 64 S+1 #6 1390 102.0 -102.0 |429 458 34 O+2 &7 -200 0.0 0.0 |1430 458 INS= &K 90 10.0 -10.0
454 445 64 S+1 7 1390 102.0 -102.0 |623 633 5 N-4 T -200 0.0 0.0 1452 449 2¢ N= vQ 90 10.0 -10.0
537 556 6# S+1 &5 1390 102.0 -102.0 [430 457 5¢DS-2 #A -300 -111.0 111.0|455 446 INS= &K 90 10.0 -10.0
549 548 6& S+1 #6 1390 102.0 -102.0 |431 456 5vDN-2 #T -300 -111.0 111.0|551 548 INS= &K 90 10.0 -10.0
550 547 6% S+1 46 1390 102.0 -102.0 [460 427 5¢DS-2 #3 -300 -111.0 111.0|555 544 INS= &K 90 10.0 -10.0
425 433 6% S = v8 1370 77.0 -77.0|529 525 5¢DS-2 ¢A -300 -111.0 111.0 (623 631 2¢ N = vQ 90 10.0 -10.0
522 532 6& S = v7 1370 77.0 -77.0|535 558 6% N - ¢Q -300 -111.0 111.0 (629 625 INS= 46 90 10.0 -10.0
638 657 6% S = v8 1370 770 -77.0|627 629 5¢DS-2 #A -300 -111.0 111.0 (659 634 1INS= &K 90 10.0 -10.0
447 452 3NS+4 6 720 -470.0 470.0(631 625 5¢DS-2 &5 -300 -111.0 111.0 (423 437 INV-1 A 50 -51.0 51.0
551 546 3NS+4 46 720 -470.0 470.0 (651 648 5¢DN-2 &T -300 -111.0 111.0|429 459 INO-1 ¢2 50 -51.0 51.0
560 527 3NN+4 ¢4 720 -470.0 470.0|559 534 44 O = &7 -420 -250.0 250.0|460 428 INO-1 v9 50 -51.0 51.0
623 633 3NN+4 4Q 720 -470.0 470.0 [522 532 54 O = &7 -450 -264.0 264.0|530 526 INV-1 #A 50 -51.0 51.0
636 659 3NS+4 47 720 -470.0 470.0 [551 546 44 O+1 3 -450 -264.0 264.0|558 537 INO-1 v6 50 -51.0 51.0
656 643 3NS+4 &7 720 -470.0 470.0 (621 635 44 O+1 ¢Q -450 -264.0 264.0|531 525 INO= v6 -90 -227.0 227.0
660 628 3NS+4 46 720 -470.0 470.0 (426 432 64DN-3 vA -500 -319.0 319.0|655 638 1IN O = vA -90 -227.0 227.0
424 434 3NS+3 #6 690 -497.0 497.0(523 531 5vDS-3 ¢A -500 -319.0 319.0|657 636 1INO = vA -90 -227.0 227.0
429 458 3NN+3 #T 690 -497.0 497.0|550 547 54D N-3 &T -500 -319.0 319.0|426 434 2v S-1 #K -100 -230.0 230.0
453 446 3NN+3 5 690 -497.0 497.0|630 626 64DN-3 43 -500 -319.0 319.0|536 559 INS-1 #K -100 -230.0 230.0
529 525 ANN+2 ¢4 690 -497.0 497.0 (654 645 5¢DN-3 43 -500 -319.0 319.0 |552 547 24 N-1 vQ -100 -230.0 230.0
535558 3NS+3 ¢T 690 -497.0 497.0 (650 649 5vDS-4 «A -800 -543.0 543.0(621 633 34 N-1 vQ -100 -230.0 230.0
655 644 3NN+3 ¢4 690 -497.0 497.0 (530 524 5#DN-5 #8 -1100 -679.0 679.0(626 628 3NN-1 vQ -100 -230.0 230.0
652 647 3NN+2 ¢4 660 -513.0 513.0 (560 527 5#DN-5 4«3 -1100 -679.0 679.0 (635 658 2NN-2 &5 -200 -343.0 343.0
5569 534 4v N+1 #T 650 -513.0 513.0 (655 644 5#DN-5 3 -1100 -679.0 679.0 651 646 3NS-2 &K -200 -343.0 343.0
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16 4105 Basta kontrakt 17 463 Basta kontrakt 18 4 Kn975 Basta kontrakt
Vast vD1096 34 V =-140 Nord v9 54 O =-450 Ost vD 3v O =-140
oV + 87 Ingen ¢ Kn96542 NS + K10975
#Kn9743 & ¢ v & NT #10854 & ¢ v & NT #DKn8 & ¢ v & NT
4 K432 4 EKn87 N6 46 46 49 «4KKn108542 N 3 5 2 2 3 4 D2 « E1086 N7 7 4505
v EK7 vKn3 S 6 46 46 vEKKn75 ¢86 S35223 vE762 vKKn1098 S 7 7 4 55
410643 ¢ EK52 06 96 97 ¢ ED10 ¢+ K7 O 108 111110 + D862 ¢ Kn3 046 967
&D2 #1085 V69697 &#EKKN6 #92 vV 9 8 111110 #E54  #93 V468967
4 D96 4 ED7 & K43
v 8542 vD10432 v 543
+ DKn9 +83 ¢+ E4
*EK6 «D73 #K10762
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
432 456 3NO-3 ¥4 300 265.0 -265.0 (460 429 6NDV -3 46 500 673.0 -673.0 (525 533 4v O-2 +¢A 100 316.0 -316.0
521 535 3NV-2 T 200 151.0 -151.0 |449 454 6NDV-1 46 100 457.0 -457.0 |424 444 49y O-1 &6 50 252.0 -252.0
524 532 44 O-2 v2 200 151.0 -151.0 |658 645 64D O -1 #7 100 457.0 -457.0 |426 436 44 V-1 &5 50 252.0 -252.0
527 529 44 V-2 ¢8 200 151.0 -151.0 (421 447 3NV-1 +5 50 416.0 -416.0 |522 536 4y V-1 #Q 50 252.0 -252.0
536 559 44 O-2 #A 200 151.0 -151.0 |427 435 64 O-1 +8 50 416.0 -416.0 [543 558 4v O-1 +¢A 50 252.0 -252.0
538 557 3NO-2 &A 200 151.0 -151.0 |430 459 64 O-1 8 50 416.0 -416.0 |547 554 3v O-1 v2 50 252.0 -252.0
551 548 44 V-2 ¢8 200 151.0 -151.0 (431 458 64 O-1 +5 50 416.0 -416.0 |560 529 4y V-1 #Q 50 252.0 -252.0
635 658 3NO-2 &K 200 151.0 -151.0 |522 536 54 O-1 v2 50 416.0 -416.0 |624 636 4y O-1 ¢A 50 252.0 -252.0
637 656 44 O-2 &A 200 151.0 -151.0 559 538 54 O-1 ¥3 50 416.0 -416.0 |644 659 4y V-1 #Q 50 252.0 -252.0
659 634 44 O-2 &K 200 151.0 -151.0 |621 643 3NV-1 +6 50 416.0 -416.0 |648 655 4y V-1 vQ 50 252.0 -252.0
421 445 44 O-1 #A 100 -2.0 2.01638 622 6NV-1 +2 50 416.0 -416.0 |653 650 4y O-1 &7 50 252.0 -252.0
423 437 44 V-1 v9 100 -2.0 2.0|654 649 3NV-1 ¢5 50 416.0 -416.0 (658 645 4v V-1 #Q 50 252.0 -252.0
425 435 44 O-1 #A 100 -2.0 2.0 422 446 3NV = ¢4 400 -53.0 53.0(621 643 2v O= v4 -110 55.0 -55.0
426 434 44 O-1 #A 100 -2.0 2.01523 535 3NV = ¢2 -400 -53.0 53.0(422 446 3y O= v3 -140 12.0 -12.0
427 433 44 V-1 ¢8 100 -2.0 2.0|531 527 3NV = ¢3 -400 -53.0 53.0(427 435 1vy O+2 v2 -140 12.0 -12.0
429 459 44 O-1 #A 100 -2.0 2.0|537 521 3NV = ¢5 -400 -53.0 53.0(431 458 3v O= v3 -140 12.0 -12.0
430 458 44 O-1 #A 100 -2.0 2.0|551 550 3NV= ¢2 -400 -53.0 53.0(437 425 2v V+1 &7 -140 12.0 -12.0
431 457 44 O-1 &K 100 -2.0 2.0|556 545 3NV = ¢4  -400 -53.0 53.0(449 454 2v O+1 &2 -140 12.0 -12.0
436 424 44 O-1 #K 100 -2.0 2.01629 631 3NV = ¢4 400 -53.0 53.0(452 451 3v O= v3 -140 12.0 -12.0
444 422 44 O-1 A 100 -2.0 2.0 (656 647 3NV = ¢5 -400 -53.0 53.0(455 448 3v V= 47 -140 12.0 -12.0
448 453 44 O-1 #A 100 -2.0 2.0 424 444 44 O = v3 -420 -91.0 91.0(460 429 2v O+1 ¥3 -140 12.0 -12.0
451 450 44 O-1 #K 100 -2.0 2.0 |1437 425 44 O = v2 420 -91.0 91.0(523 535 2v O+1 +¢A -140 12.0 -12.0
452 449 44 O-1 #A 100 -2.0 2.0 |547 554 44 O = v2 -420 -91.0 91.0(524 534 3v V= «Q -140 12.0 -12.0
454 447 44 O-1 +Q 100 -2.0 2.0 (653 650 44 O = v3 -420 -91.0 91.0(531527 2vy O+1 ¢A -140 12.0 -12.0
455 446 44 O-1 #A 100 -2.0 2.0 1657 646 44 O= v2 -420 -91.0 91.0(551550 2v O+1 3 -140 12.0 -12.0
460 428 44 V-1 4T 100 -2.0 2.01660 630 4y O = v3 -420 -91.0 91.0(559 538 3v O= ¢A  -140 12.0 -12.0
522 534 44 V-1 ¢8 100 -2.0 2.0(524 534 3NV+1 v9 -430 -92.0 92.0(623 637 3v O= ¢A  -140 12.0 -12.0
530 526 44 V-1 ¢8 100 -2.0 2.01560 529 3NV +1 ¢4 -430 -92.0 92.0(626 634 2v O+1 A -140 12.0 -12.0
546 553 44 O-1 #A 100 -2.0 2.0 1426 436 44 O+1 +8 -450 -139.0 139.0(632 628 3v V= «Q -140 12.0 -12.0
550 549 3NO-1 #A 100 -2.0 2.0(428 434 44 O+1 v2 -450 -139.0 139.0 (638 622 2v O+1 ¢A -140 12.0 -12.0
552 547 44 O-1 #A 100 -2.0 2.0|432 457 44 O+1 ¢8 -450 -139.0 139.0 (656 647 2v V+1 &7 -140 12.0 -12.0
554 545 44 O-1 #A 100 -2.0 2.0 1433 456 54 O = ¢8 -450 -139.0 139.0 (657 646 1v O+2 ¢A -140 12.0 -12.0
555 544 44 O-1 &A 100 -2.0 2.0 (445 423 44 O+1 ¢2 -450 -139.0 139.0 (660 630 2v O+1 v2 -140 12.0 -12.0
556 543 5¢ O-1 #A 100 -2.0 2.0 1452 451 54 O= ¢3 -450 -139.0 139.0 (428 434 3v V+1 #Q -170 -40.0 40.0
558 537 44 V-1 8 100 -2.0 2.0 (453 450 44 O+1 +8 -450 -139.0 139.0(430 459 2v O+2 ¢A -170 -40.0 40.0
560 528 44 O-1 &A 100 -2.0 2.0 (455 448 44 O+1 ¢8 -450 -139.0 139.0 (453 450 3v O+1 ¢A -170 -40.0 40.0
621 633 44 O-1 A 100 -2.0 2.0|525 533 54 O = 48 -450 -139.0 139.0(532 526 3v O+1 #Q -170 -40.0 40.0
622 632 44 O-1 #A 100 -2.0 2.0(528 530 44 O+1 #3 -450 -139.0 139.0 (537 521 2v V+2 ¢9 -170 -40.0 40.0
626 628 44 V-1 v9 100 -2.0 2.0|532 526 54 O = ¢8 -450 -139.0 139.0 (625 635 3v O+1 &2 -170 -40.0 40.0
629 625 44 V-1 43 100 -2.0 2.0|543 558 54 O = &8 -450 -139.0 139.0(629 631 2vy O+2 vA -170 -40.0 40.0
630 624 44 O-1 #A 100 -2.0 2.0 552 549 54 O = +8 -450 -139.0 139.0 (633 627 3v O+1 A -170 -40.0 40.0
645 652 44 O-1 &A 100 -2.0 2.0(555 546 44 O+1 ¢6 -450 -139.0 139.0 (654 649 2v O+2 ¢A -170 -40.0 40.0
649 648 44 O-1 v4 100 -2.0 2.0|557 544 44 O+1 ¢8 -450 -139.0 139.0 (445 423 44 S-2 +Q -200 -71.0 71.0
650 647 44 V-1 8 100 -2.0 2.0 1623 637 54 O = ¢8 -450 -139.0 139.0 (421 447 4y O = ¢A -420 -328.0 328.0
651 646 44 O-1 A 100 -2.0 2.01624 636 44 O+1 ¢8 -450 -139.0 139.0 (432 457 4v O = v3 -420 -328.0 328.0
653 644 44 V-1 v6 100 -2.0 2.0(625 635 44 O+1 8 -450 -139.0 139.0 (433 456 4v V= &7 -420 -328.0 328.0
654 643 44 V-1 v6 100 -2.0 2.0 (632 628 54 O = +8 -450 -139.0 139.0 (528 530 4v O = ¢A -420 -328.0 328.0
655 638 44 V-1 v9 100 -2.0 2.0 633 627 54 O = ¢8 -450 -139.0 139.0 (552 549 4v V= ¢5 -420 -328.0 328.0
657 636 44 O-1 #A 100 -2.0 2.0(644 659 44 O+1 ¢8 -450 -139.0 139.0 (555 546 4v O = ¢A -420 -328.0 328.0
660 627 44 O-1 #A 100 -2. 2.0(652 651 44 O+1 ¢8 -450 -139.0 139.0 (556 545 4v O = ¢A -420 -328.0 328.0
623 631 34 O = #A -140 -302.0 302.0 {648 655 44D O+1 8 -690 -379.0 379.0|557 544 4v O = 43 -420 -328.0 328.0
523 533 44 O = &A -620 -621.0 621.0 626 634 4vyDS-6 #A -1400 -740.0 740.0|652 651 4y O= ¢A -420 -328.0 328.0
531 525 44 O= &#A -620 -621.0 621.0 |553 548 A-/A+ -78.0 78.0|553 548 A-/A+ -780 78.0
19 43 Basta kontrakt 20 «D73 Basta kontrakt 21 4« ED32 Basta kontrakt
Syd v 97532 6# S =920 Vast v53 2v V =-110 Nord v 65 2v O =-110
oV + EK5 Alla + Kn973 NS ¢ E53
#K1095 & ¢ v & NT #EK109 & ¢ v & NT #D976 & ¢ v & NT
4752 &EKDKn84 N 129 107 7 2 Knl042 «K85 N7 7 466 1097 & Kn865 N8 85765
vD864 vKnl0 S 129 107 7 vDKn97 vK1064 S77 466 v EDKn843 vK2 S885765
+ D964 ¢83 O13364 +D ¢ EK102 O6 6 87 6 + K4 ¢ Kn762 045857
#DKn %642 V133634 #7653 »82 V66876 #103 #EKn5 V45857
#1096 « E96 s K4
vEK v E82 v 1097
+ Kn1072 + 8654 +D1098
*E873 #DKn4 *K842
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
526 534 44D O-3 vA 800 590.0 -590.0 (521 543 3v V-2 ¢33 200 392.0 -392.0 (659 648 INS+1 vJ 120 247.0 -247.0
653 648 34D O-3 46 800 590.0 -590.0 (434 456 3v O-1 #Q 100 286.0 -286.0 [557 548 3# N = vK 110 239.0 -239.0
521 543 34D O-2 vK 500 387.0 -387.0 1450 455 2v O-1 5 100 286.0 -286.0 (430 436 3ND O-1 T 100 221.0 -221.0
557 546 34D O -2 vK 500 387.0 -387.0 (460 430 2v O-1 #Q 100 286.0 -286.0 (527 535 34 V-2 T 100 221.0 -221.0
446 424 5% S = 42 400 285.0 -285.0 (544 559 2v V-1 &A 100 286.0 -286.0 (534 528 3v V-2 &7 100 221.0 -221.0
453 452 5# N = A 400 285.0 -285.0 /1429 435 INS= vQ 90 282.0 -282.0 [543 523 2# N = vK 90 208.0 -208.0
533 527 5& N = A 400 285.0 -285.0 (423 447 INO = 2 -90 73.0 -73.0|422 450 2¢v V-1 v5 50 153.0 -153.0
425 445 34 O-3 vK 300 177.0 -177.0 |637 621 1INO = L Jo) -90 73.0 -73.0|423 449 3y V-1 &7 50 153.0 -153.0
647 654 34 O-3 vA 300 177.0 -177.0 |425 445 2y O = &#A -110 36.0 -36.0|432 459 3vy O-1 v5 50 153.0 -153.0
544 559 24D O-1 vK 200 55.0 -55.0|446 424 2v V= v5 -110 36.0 -36.0(451 421 2v V-1 &7 50 153.0 -153.0
625 633 34 O-2 vK 200 55.0 -55.01523 537 2v O= ¢5 -110 36.0 -36.0(455452 3v V-1 &7 50 153.0 -153.0
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632 626 24 O-2 vK 200 55.0 -55.01525 535 2v V= «K -110 36.0 -36.0(522 544 3vV-1 v6 50 153.0 -153.0
655 646 34 O-2 vA 200 55.0 -55.0|556 547 2v V= «A -110 36.0 -36.0(533529 3vV-1 v6 50 153.0 -153.0
659 638 34 O-2 vA 200 55.0 -55.0|557 546 2v O= #Q -110 36.0 -36.0|545521 3v V-1 #2 50 153.0 -153.0
422 448 44 S+2 42 170 120 -120(623 635 2v O= ¢8 -110 36.0 -36.0(553 552 3v V-1 «v6 50 153.0 -153.0
434 456 3# S+3 42 170 12.0 -12.0 (631 627 2v V= v5 -110 36.0 -36.0(560 531 2v V-1 &7 50 153.0 -153.0
523 537 3v N+1 A 170 12.0 -12.0(651 650 2v V= #A -110 36.0 -36.0|655652 2v V-1 &7 50 153.0 -153.0
524 536 4# N+1 «Q 150 -18.0 18.0 (421 449 2y V+1 &K -140 -15.0 150424 448 3#N-1 vK -100 -53.0 53.0
532 528 3&# N+2 «A 150 -18.0 18.0 (427 437 2y O+1 5 -140 -150 15.0(644 624 3#N-1 vK -100 -53.0 53.0
548 555 34 S+2 42 150 -18.0 18.0|428 436 2v O+1 #Q -140 -150 15.0|646 622 3#N-1 ¢K -100 -53.0 53.0
622 636 4+ S+1 #Q 150 -18.0 18.0 (431 459 2y V+1 &A -140 -15.0 150|428 444 2v V= &7 -110 -54.0 54.0
623 635 3# N+2 «A 150 -18.0 18.0 (432 458 2y V+1 ¢3 -140 -15.0 15.0|435 456 2v V= &7 -110 -54.0 54.0
628 630 3# N+2 A 150 -18.0 18.0|433 457 2v V+1 ¢5 -140 -15.0 15.0|445 427 2v V= 6 -110 -54.0 54.0
651 650 3# N+2 8 150 -18.0 18.0|444 426 2v V+1 #A -140 -150 15.0|460 431 2v V= v6 -110 -54.0 54.0
657 644 3# N+2 «A 150 -18.0 18.0|454 451 1v V+2 #A -140 -150 15.0|524 538 2v V= v6 -110 -54.0 54.0
450 455 3v N= «A 140 -30.0 30.0(524 536 2y O+1 ¢4 -140 -15.0 15.0(525 537 2v V= 7 -110 -54.0 54.0
558 545 3v N= A 140 -30.0 30.0|526 534 2v O+1 #Q -140 -15.0 15.0(526 536 2v V= v5 -110 -54.0 54.0
423 447 3# N+1 #A 130 -46.0 46.0|529 531 2v V+1 #A -140 -15.0 15.0|549 556 2v V= v5 -110 -54.0 54.0
431 459 3+ S+1 #J 130 -46.0 46.0 (533 527 2y V+1 #A -140 -15.0 15.0(554 551 2v V= #7 -110 -54.0 54.0
432 458 3# N+1 «A 130 -46.0 46.0 (538 522 2y V+1 &A -140 -150 150(621647 2v O= #4 -110 -540 54.0
444 426 4% S = 42 130 -46.0 46.0|548 555 2v V+1 #A -140 -15.0 15.0(625 643 2v V= v6 -110 -54.0 54.0
454 451 3&# N+1 #K 130 -46.0 46.0 (552 551 2y V+1 #A -140 -15.0 15.0(627 637 2v V= #7 -110 -540 54.0
529 531 3¢ S+1 42 130 -46.0 46.0|554 549 2v O+1 2 -140 -150 15.0|631 633 2v V= 6 -110 -54.0 54.0
538 522 3#S+1 &2 130 -46.0 46.0 (622 636 2y O+1 #A -140 -15.0 150|634 630 2v V= &7 -110 -54.0 54.0
552 551 3# N+1 A 130 -46.0 46.0|625633 2v V+1 ¢3 -140 -150 15.0|658 649 2v V= #7 -110 -540 54.0
556 547 3# N+1 &4A 130 -46.0 46.0|632 626 2v O+1 5 -140 -150 15.0|660 632 2v V= 6 -110 -54.0 54.0
660 629 3# N+1 &K 130 -46.0 46.0 (643 658 2y V+1 #A -140 -150 150|433 458 2v V+1 #7 -140 -105.0 105.0
427 437 3¢ S= «3 110 -80.0 80.0|647 654 2v V+1 #A -140 -150 15.0|434 457 2v V+1 &7 -140 -105.0 105.0
460 430 3% N= A 110 -80.0 80.0(652 649 2y V+1 &A -140 -15.0 150447 425 2vV+1 6 -140 -105.0 105.0
560 530 3# S= 42 110 -80.0 80.0(653 648 2y O+1 ¢7 -140 -15.0 150|454 453 2v V+1 «7 -140 -105.0 105.0
631 627 3# N= A 110 -80.0 80.0|657 644 2v O+1 5 -140 -150 15.0|530 532 3v V= v5 -140 -105.0 105.0
643 658 3# S = 42 110 -80.0 80.0(660 629 2y O+1 v2 -140 -150 150(555550 2vV+1 A -140 -105.0 105.0
421 449 24 O-1 vA 100 -89.0 89.0(560 530 INO+2 ¢4 -150 -15.0 150|558 547 24 O+1 #4 -140 -105.0 105.0
433 457 24 O-1 vK 100 -89.0 89.0(628 630 24 O+2 #A -170 -62.0 62.0(559 546 3v V= 6  -140 -105.0 105.0
637 621 INS= 3 90 -96.0 96.0 (655 646 2y O+2 &A -170 -62.0 62.0(623 645 2v V+1 A -140 -105.0 105.0
525 535 5&# N-1 4A -50 -265.0 265.0 (656 645 2v O+2 5 -170 -62.0 62.0(628 636 2v V+1 #7 -140 -105.0 105.0
624 634 4« N-1 4A -50 -265.0 265.0 (659 638 2v O+2 46 -170 -62.0 62.0(635 629 3v V= v6 -140 -105.0 105.0
656 645 4y N-1 4A -50 -265.0 265.0 (422 448 24 S-2 vQ -200 -108.0 108.0 (650 657 3v V= ¢A -140 -105.0 105.0
428 436 4+ S-2 7 -100 -323.0 323.0|532 528 24 S-2 vQ -200 -108.0 108.0|654 653 3v V= ¢A -140 -105.0 105.0
429 435 44 S-2 42 -100 -323.0 323.0 (558 545 24 S-2 vQ -200 -108.0 108.0|656 651 2y V+1 ¢A -140 -105.0 105.0
652 649 S5# N-2 #A -100 -323.0 323.0|624 634 2¢vDV+1 #A -870 -618.0 618.0|426 446 2v V+2 5 -170 -157.0 157.0
554 549 4y N-3 «A -150 -372.0 372.0|453 452 2vDV +2 #A -1070 -708.0 708.0|429 437 4# N-2 vK -200 -195.0 195.0
553 550 A-IA+ -78.0 78.0|553 550 A-IA+ -78.0 78.0|626 638 4# N-2 vK -200 -195.0 195.0
22 o E Basta kontrakt 23 «D4 Basta kontrakt 24 492 Basta kontrakt
Ost v K8654 44 S =420 Syd v K8542 ANT S =630 Vast vE2 3v N =140
ov ¢+ E102 Alla ¢ Kn654 Ingen ¢ EDKn876
#E873 & ¢ v & NT *ED & ¢ v & NT *E84 & ¢ v & NT
4Knl07  4K542 N6 9 109 9 4Knl108732 496 N 11108 7 10 4E1084 4K653 N889 78
v- v DKn972 S 6 9 10109 v EKn10 v 9763 S 11108 7 10 v 986 v K54 S889 78
+ K743 496 07 4334 +92 ¢+ E1087 023452 ¢ 942 41053 044465
#1096542 #KD V74334 #102 *865 V23452 #DKnl10 #K95 V444675
« D9863 4 EK5 4 DKn7
vE103 vD v DKn1073
¢ DKn85 ¢ KD3 ¢+ K
*Kn #KKn9743 *7632
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
524 538 44DV -4 «A 1100 706.0 -706.0 (452 422 6% S = +9 1370 635.0 -635.0 (460 432 34D O -3 ¢K 500 398.0 -398.0
422 450 3NN+1 vQ 430 283.0 -283.0 |1460 432 3ND S +3 3 1350 632.0 -632.0 |1633 629 4v S= aA 420 319.0 -319.0
525 537 3NN+1 vQ 430 283.0 -283.0 |427 447 3NN+3 7 690 77.0 -77.0]423 451 3NN = «5 400 291.0 -291.0
533 529 4y N= ¢9 420 277.0 -277.0 1434 458 3NN+3 7 690 77.0 -77.0|425 449 3NS= «Q 400 291.0 -291.0
543 523 44 N = &K 420 277.0 -277.0 1521 547 3NS+3 vJ 690 77.0 -77.0 (433 459 3NS= &4 400 291.0 -291.0
557 548 4v N = ¢9 420 277.0 -277.0 (528 536 3NS+3 45 690 77.0 -77.0|434 458 3NS= a7 400 291.0 -291.0
625 643 4y N = K 420 277.0 -277.0 (554 553 4N S+2 9 690 77.0 -77.0|446 428 3NN = 45 400 291.0 -291.0
447 425 3NN = vQ 400 253.0 -253.0 1622 644 3NS+3 «J 690 77.0 -77.0 (455 454 3NS= «Q 400 291.0 -291.0
451 421 3NN= v7 400 253.0 -253.0 /1421 453 3NS+2 43 660 30.0 -30.0 (521 547 3NN-= «5 400 291.0 -291.0
522 544 3NN = vQ 400 253.0 -253.0 1423 451 3NS+2 4J 660 30.0 -30.0(523 545 3NN = 46 400 291.0 -291.0
527 535 3NN = K 400 253.0 -253.0 1424 450 3NS+2 «J 660 30.0 -30.0 (525 543 3NS= «Q 400 291.0 -291.0
530 532 3NN = «4 400 253.0 -253.0 1425 449 3NS+2 43 660 30.0 -30.0 546 522 3NN = «8 400 291.0 -291.0
553 552 3NN = ¢9 400 253.0 -253.0 |1429 445 3NS+2 4J 660 30.0 -30.0|560 532 3NS= «Q 400 291.0 -291.0
558 547 3NN = vQ 400 253.0 -253.0 1431 437 3NS+2 «J 660 30.0 -30.0 (622 644 3NS= «Q 400 291.0 -291.0
621 647 3NN= v2 400 253.0 -253.0 1436 456 3NN+2 8 660 30.0 -30.0 (627 635 3NN = «3 400 291.0 -291.0
646 622 3NN = vQ 400 253.0 -253.0 |446 428 3NS+2 4J 660 30.0 -30.0(634 628 3NN = 45 400 291.0 -291.0
656 651 34 O-4 vA 400 253.0 -253.0 1448 426 3NS+2 «J 660 30.0 -30.0|659 646 3N S= &4 400 291.0 -291.0
658 649 3NN = vQ 400 253.0 -253.0 1523 545 3NS+2 &T 660 30.0 -30.0|660 631 3NS= «Q 400 291.0 -291.0
659 648 3NN = vQ 400 253.0 -253.0 1525 543 3NS+2 4J 660 30.0 -30.0|429 445 3v N+2 +6 200 60.0 -60.0
660 632 3NN = vQ 400 253.0 -253.0 1526 538 3NS+2 43 660 30.0 -30.0 (544 524 2v N+3 ¢3 200 60.0 -60.0
429 437 1v O-3 #J 300 136.0 -136.0 |527 537 3NS+2 «J 660 30.0 -30.0(531 533 3v N+1 ¥4 170 25.0 -25.0
434 457 24 V-3 «A 300 136.0 -136.0 |531 533 3NS+2 43 660 30.0 -30.0|452 422 2NN+1 &5 150 -40 4.0
445 427 1v O-3 #J 300 136.0 -136.0 |535 529 3NS+2 «J 660 30.0 -30.0 427 447 2¢ N+1 +2 110 -56.0 56.0
454 453 1v O-3 #J 300 136.0 -136.0 |544 524 3NS+2 «J 660 30.0 -30.0|448 426 2¢ N+1 &5 110 -56.0 56.0
654 653 1vy O-3 #J 300 136.0 -136.0 |550 557 3NS+2 43 660 30.0 -30.0|528 536 3¢ N= «5 110 -56.0 56.0
460 431 24 V-2 v4 200 19.0 -19.0 (558 549 4NS+1 +9 660 30.0 -30.0|534 530 2v N= v4 110 -56.0 56.0
650 657 24 V-2 A 200 19.0 -19.0 (559 548 3NS+2 42 660 30.0 -30.0 (624 638 2v S= «Q 110 -56.0 56.0
433 458 2y N+2 9 170 -8.0 8.0 (560 532 3NS+2 43 660 30.0 -30.0(643 623 2¢ N+1 &3 110 -56.0 56.0
623 645 INN+2 2 150 -40.0 40.0 (624 638 3NS+2 &3 660 30.0 -30.0|653 652 2¢ N+1 &5 110 -56.0 56.0
644 624 2NN+1 v2 150 -40.0 40.01625 637 3NS+2 +9 660 30.0 -30.0|436 456 2¢ N= ¢+3 90 -72.0 72.0
424 448 29y N+1 9 140 -40.0 40.0626 636 3NS+2 47 660 30.0 -30.0|550 557 2¢ N= 8 90 -72.0 720
430 436 INN+1 vQ 120 -67.0 67.0|627 635 5N S = «J 660 30.0 -30.0|554 553 2¢ N= 5 90 -720 72.0
560 531 2NN = vQ 120 -67.0 67.0|630 632 3NS+2 4J 660 30.0 -30.0 (626 636 2¢ N= 3 90 -72.0 720
534 528 24 S= T 110 -88.0 88.0(633 629 3NS+2 4J 660 30.0 -30.0 (645 621 2¢ N= ¢3 90 -72.0 72.0
423 449 3NN-1 vQ -50 -262.0 262.0 (643 623 3NS+2 43 660 30.0 -30.0 {654 651 2¢ N= ¢+3 90 -720 72.0
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426 446 3NN-1 &2 -50 -262.0 262.0 (645 621 3NS+2 &J 660 30.0 -30.0|655 650 2¢ N= 43 90 -72.0 720
455 452 3NS-1 4 -50 -262.0 262.0 (649 656 3NS+2 4J 660 30.0 -30.0|421 453 3NS-1 #Q -50 -249.0 249.0
549 556 3NN-1 vQ -50 -262.0 262.0 (653 652 3NS+2 43 660 30.0 -30.0|424 450 4v S-1 £Q -50 -249.0 249.0
554 551 3NN-1 2 -50 -262.0 262.0 (654 651 3NS+2 &J 660 30.0 -30.0430 444 3¢ S-1 £Q -50 -249.0 249.0
555 550 44 S-1 6 -50 -262.0 262.0 (655 650 3NS+2 &7 660 30.0 -30.0|435 457 3¢ N-1 2 -50 -249.0 249.0
627 637 3NN-1 vQ -50 -262.0 262.0 (657 648 3NS+2 &T 660 30.0 -30.0|527 537 3NN-1 T -50 -249.0 249.0
628 636 3NS-1 ¢3 -50 -262.0 262.0 (658 647 3NS+2 43 660 30.0 -30.0|535529 3&#S-1 A -50 -249.0 249.0
635 629 3NN-1 &K -50 -262.0 262.0 (659 646 3NS+2 &7 660 30.0 -30.0|555 552 3NS-1 #Q -50 -249.0 249.0
655 652 3NN-1 vQ -50 -262.0 262.0 (660 631 3NS+2 &J 660 30.0 -30.0|556 551 3v S-1 #Q -50 -249.0 249.0
432 459 3NS-2 #3 -100 -327.0 327.0 (634 628 3NS+1 4J 630 -19.0 19.0 (558 549 3¢ N-1 &K -50 -249.0 249.0
626 638 4vyDN-1 #K -100 -327.0 327.0 (433 459 5 S+1 49 620 -20.0 20.0 (625 637 3NS-1 #Q -50 -249.0 249.0
634 630 4vyDN-1 ¢9 -100 -327.0 327.0 (430 444 5% S = «J 600 -68.0 68.0 (630 632 3NN-1 3 -50 -249.0 249.0
428 444 4v S-3 #K  -150 -367.0 367.0 |555 552 5# S = «J 600 -68.0 68.0 (649 656 3NN-1 43 -50 -249.0 249.0
435 456 3NS-3 #6 -150 -367.0 367.0 |556 551 5# S = «J 600 -68.0 68.0 (431 437 3NDS-1 #Q -100 -318.0 318.0
526 536 3NN-3 #Q -150 -367.0 367.0 (455 454 6NS-1 9 -100 -632.0 632.0(526 538 4v S-2 #Q -100 -318.0 318.0
631 633 B3NN-3 #K -150 -367.0 367.0 [546 522 6# S-1 48 -100 -632.0 632.0(559 548 4y S-2 &#Q -100 -318.0 318.0
545 521 4vyDN-2 #K -300 -484.0 484.0 (435 457 34 N-2 49 -200 -651.0 651.0(658 647 4v S-2 4A -100 -318.0 318.0
559 546 4vyDN-2 #K -300 -484.0 484.0 (534 530 6¢ S-2 2 -200 -651.0 651.0|657 648 5¢ N-3 45 -150 -358.0 358.0
25 +Kn4 Basta kontrakt 26 oK Basta kontrakt 27 4 Kn10532 Basta kontrakt
Nord v EKn95 44 O =-620 Ost vE 5¢ SD-2-500 Syd vD2 5¢ VD -2 300
ov +52 Alla + KD106532 Ingen * K2
#K9432 & ¢ v & NT #9832 & ¢ v & NT #D987 & ¢ v & NT
4107532 «KD98 N6 7 434 # DKn43 & E965 N39 234 4KD98  4E74 N 114 8 7 9
vKD42  v1073 S6 7 434 v8 vKDKn1052 S 3 9 2 3 4 v10843 v 965 S 114 9 7 9
¢ EK7 ¢ 103 O6 5 8 108 + Kn9 *4 O 103 109 5 ¢+ E10864 ¢ Kn753 029 36 3
210 #EKn85 V 6 6 8 108 #EKDKN106 #74 V 103 109 5 »- #Kn102 V29363
4 E6 410872 46
v 86 v 97643 v EKKn7
+ DKn9864 + E87 +D9
«D76 *5 #EK6543
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
430 446 3NV-1 +9 100 519.0 -519.0 (524 546 74DV -4 A 1100 698.0 -698.0 (533 535 34D S+2 ¢A 670 394.0 -394.0
557 552 3¢ S-1 &T -50 412.0 -412.0 (425 451 4¢DN+1 vK 910 609.0 -609.0 (560 534 54D S= &K 550 273.0 -273.0
622 650 3¢ S-1 &T -50 412.0 -412.0 (528 538 4¢DN+1 vK 910 609.0 -609.0 (645 625 5¢DO-3 vA 500 205.0 -205.0
428 448 3¢ S-2 45 -100 376.0 -376.0 (532 534 4¢DN+1 vK 910 609.0 -609.0 (632 634 3NS+3 ¢4 490 203.0 -203.0
431 445 4¢ S-2 T -100 376.0 -376.0 |556 553 3¢DN+1 vK 870 573.0 -573.0 (622 648 24D N +3 ¢A 480 180.0 -180.0
447 429 34 S-2 ¢A -100 376.0 -376.0 426 450 5¢DN= ¢K 750 509.0 -509.0 (422 421 3NN+2 3 460 154.0 -154.0
521 549 3¢ S-2 #T -100 376.0 -376.0 (432 444 5¢DN= &7 750 509.0 -509.0 (423 455 3NN+2 5 460 154.0 -154.0
5565554 3¢ S-2 T -100 376.0 -376.0 (521 549 5¢DN= ¢K 750 509.0 -509.0 (429 449 3NS+2 +6 460 154.0 -154.0
422 454 34 V= ¢5 -140 329.0 -329.0 (630 638 5¢DN= ¢K 750 509.0 -509.0 (432 446 3NN+2 5 460 154.0 -154.0
648 624 3&# N-3 #A -150 324.0 -324.0 (652 659 5¢DN= vQ 750 509.0 -509.0 (450 428 3NN +2 43 460 154.0 -154.0
432 444 34 O+1 #4  -170 305.0 -305.0 660 634 5¢DN= &4A 750 509.0 -509.0 (521 551 3NN+2 5 460 154.0 -154.0
434 459 34 V+1 #4  -170 305.0 -305.0 |547 523 5¢ N = &7 600 402.0 -402.0 |530 538 3NN+2 ¢5 460 154.0 -154.0
435 458 34 V+1 5 -170 305.0 -305.0 |527 543 54DV -2 ¢K 500 331.0 -331.0 (546 526 3NN+2 5 460 154.0 -154.0
449 427 34 V+1 5 -170 305.0 -305.0 [622 650 54DV -2 vA 500 331.0 -331.0 (557 554 3NN+2 ¢4 460 154.0 -154.0
460 433 34 V+1 #2 -170 305.0 -305.0 [421 455 3NV-4 2 400 248.0 -248.0 (624 646 3NN+2 3 460 154.0 -154.0
547 523 34 V+1 ¢5 -170 305.0 -305.0 (434 459 3NV -4 +K 400 248.0 -248.0 (627 643 3NN+2 3 460 154.0 -154.0
5569 550 34 V+1 ¢5 -170 305.0 -305.0 (529 537 3NV -4 K 400 248.0 -248.0 (628 638 3NN+2 5 460 154.0 -154.0
630 638 34 O+1 ¢Q -170 305.0 -305.0 (555 554 3NV -4 K 400 248.0 -248.0 (425 453 3NN+1 v6 430 112.0 -112.0
652 659 34 V+1 ¢5 -170 305.0 -305.0 (625 647 3NV -3 K 300 177.0 -177.0 |[427 451 3NN+1 #J 430 112.0 -112.0
657 654 34 V+1 &2 -170 305.0 -305.0 (656 655 64 V-3 ~vA 300 177.0 -177.0 |[460 434 54 S+1 &K 420 110.0 -110.0
627 645 5¢DS-3 #T -500 -67.0 67.0(431 445 54 V-2 K 200 94.0 -94.0|556 555 5 S+1 ¢4 420 110.0 -110.0
421 455 44 V= ¢5 -620 -201.0 201.0 (447 429 54 V-2 ¢K 200 94.0 -94.0|433 445 5& S = K 400 68.0 -68.0
424 452 44 V= ¢2 -620 -201.0 201.0 (522 548 5# V-2 ¢K 200 94.0 -94.0 435 459 5& S = «K 400 68.0 -68.0
425 451 44 V= ¢+5 -620 -201.0 201.0 (621 651 64 O-2 ¢A 200 94.0 -94.0|436 458 5& S = «K 400 68.0 -68.0
436 457 44 V= ¢5 -620 -201.0 201.0 (628 644 4v O-2 ¢A 200 94.0 -94.0 |444 456 5& S = «K 400 68.0 -68.0
437 456 44 O = ¢Q -620 -201.0 201.0 (648 624 44 V-2 vA 200 94.0 -94.0|454 424 3NN = &7 400 68.0 -68.0
453 423 44 V= ¢5 -620 -201.0 201.0 (422 454 5v O-1 +¢A 100 40 -4.0|522 550 5# S = ¢A 400 68.0 -68.0
522 548 4e V= ¢5 -620 -201.0 201.0 (428 448 44 V-1 ¢K 100 40 -4.0|537 531 3NN= +5 400 68.0 -68.0
526 544 4a V= ¢5 -620 -201.0 201.0 (453 423 44 V-1 ¢K 100 40 -4.0|548 524 54 S = v3 400 68.0 -68.0
528 538 44 V= ¢5 -620 -201.0 201.0 (545 525 5# O-1 4K 100 40 -4.0|552 559 5# S = ¢A 400 68.0 -68.0
532 534 44 V= ¢5 -620 -201.0 201.0 (559 550 4« V-1 vA 100 40 -4.0|558 553 3NN = «4 400 68.0 -68.0
535 531 44 V= ¢+5 -620 -201.0 201.0 (657 654 4v O-1 &5 100 40 -4.0(621 649 5# S = ¢+A 400 68.0 -68.0
536 530 44 O = ¢+Q -620 -201.0 201.0 (629 643 3v O = ¢A -140 -163.0 163.0 (635 631 5# S= «K 400 68.0 -68.0
545 525 44 O = ¢5 -620 -201.0 201.0 (460 433 5¢DN-1 ¢vK -200 -218.0 218.0|651 658 5& S = «K 400 68.0 -68.0
551 558 4e V= 4  -620 -201.0 201.0|557 552 5¢DN-1 ¥vK -200 -218.0 218.0|655 654 5& S = ¢+A 400 68.0 -68.0
556 553 44 V= ¢+5 -620 -201.0 201.0 (560 533 3v O+ &5 -200 -218.0 218.0 ({656 653 5# S = ¢A 400 68.0 -68.0
621 651 44 V= ¢5 -620 -201.0 201.0 (633 635 5¢DN-1 4A -200 -218.0 218.0|659 650 5& S = ¢A 400 68.0 -68.0
625 647 4e V= &2  -620 -201.0 201.0 424 452 4a V= +Q -620 -500.0 500.0 (660 633 3NN = 46 400 68.0 -68.0
629 643 44 O = ¢+Q -620 -201.0 201.0 (430 446 44 O= ¢K -620 -500.0 500.0 (431 447 3#S+3 &K 170 -211.0 2110
633 635 44 O= v8 -620 -201.0 201.0 (435 458 44 V= ¢K -620 -500.0 500.0 (448 430 3#S+3 &K 170 -211.0 2110
636 632 44 V= ¢5 -620 -201.0 201.0 (436 457 4v O= ¢A -620 -500.0 500.0 (523 549 3#S+3 v4 170 -211.0 211.0
637 631 4e V= ¢5 -620 -201.0 201.0 (437 456 44 V= ¢+K -620 -500.0 500.0 [536 532 4# S+1 A 150 -230.0 230.0
646 626 44 V= ¢5 -620 -201.0 201.0 (449 427 44 V= ¢K -620 -500.0 500.0 (626 644 44 S+1 &K 150 -230.0 230.0
656 655 44 V= «J -620 -201.0 201.0|526 544 4v O = ¢+K -620 -500.0 500.0 (629 637 3# S+2 &K 150 -230.0 230.0
658 653 44 O = v8 -620 -201.0 201.0 (535 531 44 O= ¢A -620 -500.0 500.0 [636 630 2# S+3 ¥4 150 -230.0 230.0
660 634 44 O = v8 -620 -201.0 201.0 (536 530 44 O = ¢A -620 -500.0 500.0 [657 652 4# S+1 ¢A 150 -230.0 230.0
426 450 44 O+1 6  -650 -239.0 239.0|551 558 4v O = ¢A -620 -500.0 500.0 {426 452 2v S= v4 110 -279.0 279.0
524 546 44 O+1 ¢Q -650 -239.0 239.0 (623 649 44 V= ¢+K -620 -500.0 500.0 [527 545 14DV-1 ¢Q 100 -288.0 288.0
527 543 44 O+1 ¥8 -650 -239.0 239.0 (627 645 44 V= ¢K -620 -500.0 500.0 (437 457 4v N-1 *3 -50 -444.0 444.0
560 533 44 V+1 5 -650 -239.0 239.0|636 632 44 O= ¢A -620 -500.0 500.0 (528 544 64 S-1 &K -50 -444.0 444.0
623 649 44 O+1 v8 -650 -239.0 239.0 (637 631 44 V= ¢+K -620 -500.0 500.0 (529 543 4vDS-1 6 -100 -487.0 487.0
628 644 44 O+1 ¢Q -650 -239.0 239.0 (646 626 44 O = ¢A -620 -500.0 500.0 (525 547 3¢ V= vQ -110 -489.0 489.0
529 537 5¢DS-4 T -800 -400.0 400.0 (658 653 4vDO= ¢A -790 -615.0 615.0|647 623 3¢ O = 42 -110 -489.0 489.0
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28 48 Basta kontrakt 29 4 Kn83 Basta kontrakt 30 4 EKn109 Basta kontrakt
Vast v8 44 V =-420 Nord v DKn862 4¢ N D -2-500 Ost v 8742 3NT S =400
NS ¢ KKn97542 Alla ¢ 9532 Ingen + K8
#EKn72 & ¢ v & NT *Kn & ¢ v & NT *K97 & ¢ v & NT
105432 4 DKn976 N8 9 437 «KD #6542 N3 886 4 2 KD7543 #8 N8 78709
vED52 vK1074 S89 437 vE3 v K95 S3 8864 v 963 v KKn5 S87879
+D8 ¢E 04 39 104 + D87 +104 O 105 5 6 9 ¢ DKn ¢ E10542 046 46 4
#53 *«KD8 V 439 104 #KD8742 #E965 V 105 5 6 9 *E3 #Kn542 V45464
4 EK 4 E1097 462
v Kn963 v1074 vED10
41063 ¢ EKKn6 49763
#10964 103 +D1086
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
546 526 5¢DN= &K 750 755.0 -755.0 |547 527 44 V-5 &J 500 649.0 -649.0 |648 628 44DV -4 v5 800 625.0 -625.0
556 555 5¢DN= «Q 750 755.0 -755.0 |434 446 44 O-4 ¢A 400 591.0 -591.0 |437 458 24DV -2 v4 300 235.0 -235.0
647 623 54D O-1 +3 100 495.0 -495.0 |529 545 3v N=  #A 140 406.0 -406.0 |558 555 24DV -2 v4 300 235.0 -235.0
651 658 4v O-2 «4A 100 495.0 -495.0 (621 655 2y S= K 110 363.0 -363.0 |1434 446 3+ O0-4 6 200 127.0 -127.0
557 554 3& V= v8 -140 278.0 -278.0 [557 556 3¢ S-1 vA -100 159.0 -159.0 (424 421 24 V-3 v7 150 69.0 -69.0
426 452 34 O+1 v9 -170 228.0 -228.0|650 626 3¢ S-1 4K -100 159.0 -159.0 |427 453 2# V-3 &7 150 69.0 -69.0
429 449 34 V+1 8 -170 228.0 -228.0654 622 INV+1l v6 -120 119.0 -119.0 |428 452 34 V-3 v4 150 69.0 -69.0
436 458 34 O+1 4A -170 228.0 -228.0 (424 421 4& V= ¢3 -130 118.0 -118.0 (433 447 3NO-3 #8 150 69.0 -69.0
628 638 34 O+1 &A -170 228.0 -228.0|427 453 3&#V+1 ¢3 -130 118.0 -118.0 (531 543 24 V-3 v4 150 69.0 -69.0
528 544 5¢DN-1 «4Q -200 220.0 -220.0 {430 450 3#V+1 vQ -130 118.0 -118.0 (423 422 24 V-2 v4 100 -29.0 29.0
422 421 44 O= 3 -420 -72.0 72.0|436 459 4+ V= ¢3 -130 118.0 -118.0 (426 454 24 V-2 v6 100 -29.0 29.0
423 455 44 O= 3 420 -720 72.0|437 458 3#0O+1 ¥4 -130 118.0 -118.0|430 450 24 V-2 v8 100 -29.0 29.0
425 453 44 O= aA 420 -72.0 72.0|444 457 3#0O0+1 vQ -130 118.0 -118.0|432 448 24 O-2 ¢K 100 -29.0 29.0
427 451 44 O=  ¢3  -420 -72.0 72.0|449 431 44 V= «J -130 118.0 -118.0 |444 457 24 V-2 v8 100 -29.0 29.0
431 447 4a V= v8 -420 -72.0 72.0(451 429 4+ V= vQ -130 118.0 -118.0 (445 456 24 V-2 v7 100 -29.0 29.0
432 446 44 O= #6 -420 -72.0 72.0 (460 435 4& V= vQ -130 118.0 -118.0 (449 431 24 V-2 v4 100 -29.0 29.0
433 445 44 O= v6 420 -72.0 72.0(522 552 3#V+1 #J -130 118.0 -118.0|451 429 24 V-2 ¥4 100 -29.0 29.0
435 459 44 O= &A 420 -720 72.0|524550 2#V+2 v6 -130 118.0 -118.0|455 425 24 V-2 ¢K 100 -29.0 29.0
437 457 44 O= 3 420 -72.0 72.0|526 548 2#V+2 vQ -130 118.0 -118.0|460 435 24 V-2 v8 100 -29.0 29.0
444 456 44 O= v8 420 -72.0 72.0|530 544 3#V+1 vQ -130 118.0 -118.0|522 552 24 V-2 ¥4 100 -29.0 29.0
448 430 44 O= #T -420 -720 72.0|537 533 3#V+1 43 -130 118.0 -118.0|523 551 24 V-2 v8 100 -29.0 29.0
450 428 44 O= 3 420 -72.0 72.0|549 525 2#V+2 +3 -130 118.0 -118.0|524 550 24 V-2 #9 100 -29.0 29.0
454 424 44 O= ¢3 -420 -72.0 72.0|553 521 3#V+1 #J -130 118.0 -118.0|526 548 2N O-2 #8 100 -29.0 29.0
460 434 44 O= #T -420 -72.0 72.0(559 554 44 V= vQ -130 118.0 -118.0 (528 546 24 V-2 v4 100 -29.0 29.0
521 551 44 V= v8 420 -72.0 72.0(560 535 3#V+1 43 -130 118.0 -118.0 (529 545 24 V-2 v4 100 -29.0 29.0
522 550 4e V= v8 -420 -72.0 72.0(629 647 3#V+l 43 -130 118.0 -118.0 (530 544 24 V-2 v4 100 -29.0 29.0
523 549 44 O= T -420 -720 72.0|630 646 3#V+1 vQ -130 118.0 -118.0(534 536 24 V-2 v8 100 -29.0 29.0
525 547 44 O= 3 -420 -720 720|638 634 24V +2 42 -130 118.0 -118.0(537 533 24 V-2 v5 100 -29.0 29.0
529 543 44 O= &9 -420 -72.0 72.0|648 628 44 V= vQ -130 118.0 -118.0 (538 532 24 V-2 v4 100 -29.0 29.0
530 538 44 O= ¢5 -420 -72.0 72.0|658 657 3#V+1 vQ -130 118.0 -118.0 (547 527 24 V-2 v4 100 -29.0 29.0
533 535 44 O= 3 420 -72.0 72.0|660 636 3#V+l vQ -130 118.0 -118.0(549 525 24 V-2 v4 100 -29.0 29.0
536 532 44 O= v6 -420 -72.0 72.0|433 447 INV+2 2 -150 77.0 -77.0|553 521 24 V-2 v4 100 -29.0 29.0
537 531 44 O= v5 420 -720 72.0|523 551 3#V+2 3 -150 77.0 -77.0(557 556 24 V-2 ¥4 100 -29.0 29.0
548 524 44 V= v8 420 -72.0 72.0(531 543 4#0+1 vQ -150 77.0 -77.0(559 554 24 V-2 +¢K 100 -29.0 29.0
558 553 44 O= 3 -420 -720 72.0|631645 INV+2 v6 -150 77.0 -77.0(621 655 24 V-2 v7 100 -29.0 29.0
560 534 44 O= 3 420 -72.0 72.0|625651 INV+3 v2 -180 34.0 -34.0(623 653 24 V-2 v8 100 -29.0 29.0
621 649 44 O= 4K -420 -72.0 72.0(627 649 INV+3 v2 -180 34.0 -34.0(624 652 34 O-2 46 100 -29.0 29.0
624 646 44 O= 3 -420 -720 720|632 644 INV+3 3 -180 34.0 -34.0(625 651 24 V-2 ¥v3 100 -29.0 29.0
627 643 44 O= #4420 -720 72.0|643 633 INV+3 v2 -180 34.0 -34.0(627 649 24 V-2 v4 100 -29.0 29.0
629 637 44 O= &K -420 -720 72.0|558 555 2¢vDN-2 ¥v6 -500 -315.0 315.0(630 646 24 V-2 ¥4 100 -29.0 29.0
632 634 44 O= v6 -420 -72.0 72.0|423 422 3NV = ¢2 -600 -399.0 399.0 (631 645 24 V-2 v7 100 -29.0 29.0
635 631 44 O= #T -420 -72.0 72.0|426 454 3NO= v6 -600 -399.0 399.0 (632 644 24 V-2 v4 100 -29.0 29.0
636 630 44 O= T -420 -720 72.0|432 448 3NO= v2 -600 -399.0 399.0 (635 637 24 V-2 +8 100 -29.0 29.0
645 625 4e V= v8 420 -72.0 72.0(455 425 3NV = 43 -600 -399.0 399.0 (638 634 24 V-2 v4 100 -29.0 29.0
655 654 44 O= #T -420 -72.0 72.0|534 536 3NV = v2 -600 -399.0 399.0 (643 633 24 V-2 v2 100 -29.0 29.0
656 653 44 O= 3 -420 -720 72.0(624 652 3NO= v2 -600 -399.0 399.0 650 626 24 V-2 ¥8 100 -29.0 29.0
657 652 44 V= v8 420 -72.0 72.0(635 637 3NV = ¢9 -600 -399.0 399.0 (654 622 24 V-2 v2 100 -29.0 29.0
659 650 44 O= &A -420 -72.0 72.0|659 656 3NV = v6 -600 -399.0 399.0 (658 657 24 V-2 ¢3 100 -29.0 29.0
660 633 44 O= aA 420 -72.0 72.0|428 452 3NV +1 v2 -630 -443.0 443.0 (659 656 24 V-2 ¢7 100 -29.0 29.0
626 644 44 V+1 v8  -450 -118.0 118.0 |445 456 3NV +1 ¥3 -630 -443.0 443.0 (660 636 24 V-2 ¢7 100 -29.0 29.0
622 648 5¢DN-2 v7 -500 -171.0 171.0|528 546 3NV +1 v2 -630 -443.0 443.0(436 459 24 V-1 ¥8 50 -126.0 126.0
552 559 44DV= ¢8 -590 -308.0 308.0|538 532 3NV+1 vQ -630 -443.0 443.0|560 535 24 V-1 T 50 -126.0 126.0
527 545 54DN-3 «4Q -800 -505.0 505.0(623 653 3NV +1 v2 -630 -443.0 443.0 (629 647 24 V-1 ¥4 50 -126.0 126.0
31 475 Basta kontrakt 32 41094 Basta kontrakt 33 » 862 Basta kontrakt
Syd vKD2 INT S =2220 Vast v 875 2NT O =-120 Nord v 7632 34 O =-110
NS + KD76 oV ¢ EDKn62 Ingen ¢+ E763
#Kn1062 & ¢ v & NT #53 & ¢ v o NT #105 & ¢ v & NT
» 1094 # Kn32 N 9 9 111213 «DKn82 4763 N7 445 4 a4 «DKn1073 N 4 6 7 6 5
vKn876  v95 S 9 9 111313 vKKn2 vED9%4 S7 4454 v D95 v 108 S467 65
*- ¢Kn1098532 O 4 4 1 0 0 ¢1087 ¢ K953 O6 8888 + K109 ¢+ D84 096677
2#KD9873 &5 V44100 *E74 2KKn V68887 #KDKn942 #E83 V96677
» EKD86 # EK5 » EK95
vE1043 v 1063 v EKKn4
¢E4 *4 ¢ Kn52
*E4 #D109862 *76
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
452 430 74 S= +Q 2210 800.0 -800.0 |630 644 3NDV -3 &5 800 739.0 -739.0 (422 427 2v S= «4 110 253.0 -253.0
428 454 6NS+1 «K 1470 434.0 -434.0 (622 652 4vyDO-2 ¢4 500 619.0 -619.0 1629 651 2¢v N= 4Q 110 253.0 -253.0
437 459 6N S+1 &K 1470 434.0 -434.0 (638 632 3NV -3 &5 300 498.0 -498.0 |522 556 4#DV-1 ¥3 100 236.0 -236.0
450 432 6NN+1 #J 1470 434.0 -434.0 |532 544 4v O-2 ¢4 200 411.0 -411.0 (549 529 INS= «K 90 228.0 -228.0
532 544 6NN+1 +9 1470 434.0 -434.0 (535 537 4v V-2 ¢A 200 411.0 -411.0 (435 449 24 O-1 vA 50 176.0 -176.0
624 650 6N N+1 ¢J 1470 434.0 -434.0 (624 650 34 V-2 &5 200 411.0 -411.0 |528 550 24 O-1 #7 50 176.0 -176.0
658 655 6N N+1 ¢J 1470 434.0 -434.0 (631 643 3NV-2 +Q 200 411.0 -411.0 (531 547 24 O-1 vA 50 176.0 -176.0
637 633 64 S+1 #K 1460 425.0 -425.0 (431 451 3v O-1 &9 100 319.0 -319.0 |1544 534 4+ V-1 v7 50 176.0 -176.0
429 453 6N N = «5 1440 404.0 -404.0 (434 448 2v O-1 ¢4 100 319.0 -319.0 /1621 659 24 O-1 vK 50 176.0 -176.0
444 458 6N S = &K 1440 404.0 -404.0 |446 456 3v O-1 ¢4 100 319.0 -319.0 /1425 424 INS-1 K -50 47.0 -47.0
446 456 6N N = ¢J 1440 404.0 -404.0 [521 555 44 V-1 44 100 319.0 -319.0 1434 450 INS-1 &K -50 47.0 -47.0
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527 549 6NN = #5 1440 404.0 -404.0 1629 645 3v O-1 4A 100 319.0 -319.0 (445 458 INS-1 &K -50 47.0 -47.0
535 537 6NN = ¢J 1440 404.0 -404.0 |623 651 3#DS-1 v2 -100 141.0 -141.0 (446 457 3¢ N-1 4 -50 47.0 -47.0
543 533 6NN = +J 1440 404.0 -404.0 (433 449 3¢ V= 5 -110 122.0 -122.0|521 557 2v S-1 %K -50 47.0 -47.0
554 522 6NN = v9 1440 404.0 -404.0 |444 458 2y O= T -110 122.0 -122.0(524 554 INS-1 &K -50 47.0 -47.0
628 646 6NN = #5 1440 404.0 -404.0 1450 432 2v O= ¢4 -110 122.0 -122.0(530 548 INS-1 %K -50 47.0 -47.0
649 625 6NN = v9 1440 404.0 -404.0 1460 436 2v O= ¢4 -110 122.0 -122.0(533 545 INS-1 %K -50 47.0 -47.0
548 528 64 S= #K 1430 392.0 -392.0 (559 556 3¢ O= &A -110 122.0 -122.0|543 535 2¢ N-1 «Q -50 47.0 -47.0
550 526 64 S= «Q 1430 392.0 -392.0 (634 636 1y O+1 ¢4 -110 122.0 -122.0 (551 527 INS-1 &K -50 47.0 -47.0
623 651 6v S= +K 1430 392.0 -392.0 |658 655 24 V= 5 -110 122.0 -122.0 (626 654 INS-1 %K -50 47.0 -47.0
629 645 34DV -5 &7 1100 133.0 -133.0 (660 635 24 V= &5 -110 122.0 -122.0|627 653 INS-1 &K -50 47.0 -47.0
425 422 3NN+4 3 720 -205.0 205.0 452 430 INO+1 #9 -120 109.0 -109.0 |637 643 INS-1 &K -50 47.0 -47.0
427 455 3NN+4 ¢J 720 -205.0 205.0 (659 654 INO+1 #8 -120 109.0 -109.0 |436 448 2# O= &6 -90 -10.0 10.0
523 553 3NN+4 &5 720 -205.0 205.0 425 422 2v O+1 3 -140 86.0 -86.0|444 459 3v N- vQ -100 -39.0 39.0
559 556 4N N+3 &K 720 -205.0 205.0|525 551 2v O+1 A -140 86.0 -86.0|526 552 3v N-2 48 -100 -39.0 39.0
638 632 3NN+4 +J 720 -205.0 205.0|527 549 3vy O= ¢4 -140 86.0 -86.0(623 657 INS-2 &K -100 -39.0 39.0
653 621 3NN+4 ¢J 720 -205.0 205.0626 648 2v O+1 3 -140 86.0 -86.0|625655 3v S-2 4 -100 -39.0 39.0
657 656 3NS+4 ¢J 720 -205.0 205.0|428 454 2NO+1 #9 -150 850 -85.0|644 636 2v N-2 «Q -100 -39.0 39.0
434 448 44 S+3 #K 710 -207.0 207.0|437 459 2NO+1 #3 -150 85.0 -85.0(426 423 3& V= 6 -110 -46.0 46.0
421 426 3NN+3 ¢J 690 -246.0 246.0|530 546 3#S-3 «Q -150 850 -85.0|428 421 2#O+1 vA -110 -46.0 46.0
433 449 3NN+3 v9 690 -246.0 246.0 (649 625 INO+3 &6 -180 40.0 -40.0|430 454 3+ V= v3 -110 -46.0 46.0
445 457 3NN+3 &5 690 -246.0 246.0 (429 453 3#S-4 v2 -200 19.0 -19.0|432 452 34 0= 42 -110 -46.0 46.0
521 555 3NN+3 &5 690 -246.0 246.0|529 547 3#S-4 ¢7 -200 19.0 -19.0(451 433 3« V= T -110 -46.0 46.0
525 551 3NN+3 ¢J 690 -246.0 246.0|424 423 2#DS-2 ¢2 -300 -89.0 89.0(532 546 3# V= v7 -110 -46.0 46.0
558 557 3NN+3 &5 690 -246.0 246.0|637 633 2¢DV+1 v5 -380 -160.0 160.0|536 538 3# V= 42 -110 -46.0 46.0
622 652 3NN+3 ¢J 690 -246.0 246.0|653 621 3#DS-3 48 -500 -279.0 279.0 [555 523 3# V= ¢A -110 -46.0 46.0
626 648 3NN+3 #5 690 -246.0 246.0|421 426 3NO=  #8 -600 -374.0 374.0 (560 537 3# V= v3 -110 -46.0 46.0
630 644 3NN+3 ¢J 690 -246.0 246.0|427 455 3NO= &6 -600 -374.0 374.0|622 658 3# V= v3 -110 -46.0 46.0
634 636 SNN+3 ¢J 690 -246.0 246.0(435 447 3NO= &6 -600 -374.0 374.0 (631 649 3& V= ¢A -110 -46.0 46.0
647 627 3NN+3 ¢J 690 -246.0 246.0|445 457 3NO=  #3 -600 -374.0 374.0 (634 646 3& V= v3 -110 -46.0 46.0
660 635 3NS+3 &K 690 -246.0 246.0|523 553 3NO=  #8 -600 -374.0 374.0|645 635 3# V= v3 -110 -46.0 46.0
435 447 44 S+2 &K 680 -249.0 249.0|524 552 3NO=  #6 -600 -374.0 374.0|652 628 3% V= T -110 -46.0 46.0
524 552 44 S+2 #K 680 -249.0 249.0(531 545 3NO=  #9 -600 -374.0 374.0 (656 624 3#V = 42 -110 -46.0 46.0
530 546 44 S+2 T 680 -249.0 249.0|538 534 3NV = T -600 -374.0 374.0|660 638 3« O= v6 -110 -46.0 46.0
531 545 44 S+2 #K 680 -249.0 249.0|548 528 3NO=  #Q -600 -374.0 374.0(559 558 3#V+l 46 -130 -79.0 79.0
538 534 4v S+2 #K 680 -249.0 249.0|554 522 3NO=  #8 -600 -374.0 374.0(650 630 2# O+2 #4A -130 -79.0 79.0
460 436 3NN+2 &5 660 -280.0 280.0 (558 557 3NO=  #9 -600 -374.0 374.0 |447 456 3¢+ N-3 4Q -150 -103.0 103.0
529 547 ANN+1 &5 660 -280.0 280.0|560 536 3NV = ¢J -600 -374.0 374.0 (453 431 3¢ N-3 «Q -150 -103.0 103.0
431 451 4v S+1 #K 650 -280.0 280.0|647 627 3NO=  «A -600 -374.0 374.0|632 648 INS-3 &K -150 -103.0 103.0
560 536 4v S+1 &K 650 -280.0 280.0|657 656 3NO=  #8 -600 -374.0 374.0|429 455 24 O+2 &7 -170 -134.0 134.0
631 643 4v N+1 &5 650 -280.0 280.0|543 533 3NO+1 2 -630 -405.0 405.0|633 647 INS-4 «K -200 -178.0 178.0
659 654 7NN-1 ¢J -100 -743.0 743.0|550 526 3NO+1 #6 -630 -405.0 405.0|460 437 INDO+1 vA -280 -284.0 284.0
424 423 64 N-3 ¢J -300 -792.0 792.0 (628 646 4#DS-4 ¢7 -800 -533.0 533.0|525 553 3#DV= &T -470 -457.0 457.0
34 486 Basta kontrakt 35 a5 Basta kontrakt 36 «E108 Basta kontrakt
Ost v EKn862 64 O D -2 300 Syd v E984 3s4 V =-140 Vast v 10972 2¢ V =-90
NS ¢ ED53 ov ¢ K9654 Alla ¢E2
*86 & ¢ v & NT #EKn9 & ¢ v & NT #E1073 & ¢ v & NT
4 EKKn432 4 D975 N1 12121 1 « EKKn86 4972 N48845 4Kn9%6 4 K542 N65656
v7 vD S 112121 1 v D7 v Kn52 S 48845 v53 v EKD8 S65656
+K ¢ Kn4 O 111 0 101 +D ¢+ E1083 0955938 ¢ K9864 ¢ 75 06 8677
#ED1052 #KKn9743 VvV 111 0 101 #K8762  #DA43 V95598 #DKn4  #K62 V78677
410 4 D1043 4 D73
v K109543 v K1063 v Kn64
41098762 ¢ Kn72 ¢ DKn103
*- «105 #985
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
526 552 6vDN= &5 1660 898.0 -898.0 (430 421 44DV-4 vA 1100 757.0 -757.0 (630 648 3NO-3 ¢Q 300 383.0 -383.0
623 657 6vDS= «A 1660 898.0 -898.0 |556 524 54DV -3 ¢4 800 664.0 -664.0 1644 634 3NV-3 v7 300 383.0 -383.0
627 653 6vDN= &3 1660 898.0 -898.0 (521 559 34 V-2 45 200 258.0 -258.0 (532 548 2y O-2 43 200 274.0 -274.0
621 659 5¢vDN+1 45 1050 712.0 -712.0 (544 536 44 O-2 vA 200 258.0 -258.0 (533 547 3NV-2 &7 200 274.0 -274.0
521 557 5¢DN+1 ¢4 950 679.0 -679.0 1622 656 44 V-2 vA 200 258.0 -258.0 (544 536 INV-2 ¢T 200 274.0 -274.0
652 628 5v S+1 «A 680 583.0 -583.0 (630 648 44 V-2 ¢4 200 258.0 -258.0 (636 638 1INV-2 v2 200 274.0 -274.0
536 538 64D O-2 v3 300 387.0 -387.0 (427 424 34 V-1 vA 100 135.0 -135.0 (423 428 INO-1 +Q 100 150.0 -150.0
560 537 6#RDV-1vA 200 329.0 -329.0 |1429 422 44 V-1 v8 100 135.0 -135.0 |431 455 INO-1 +Q 100 150.0 -150.0
425 424 54DV-1 vA 100 255.0 -255.0 (435 451 34 V-1 ¢4 100 135.0 -135.0 (445 459 2NO-1 +Q 100 150.0 -150.0
451 433 54DV-1 vA 100 255.0 -255.0 (436 450 2+ V-1 ¢4 100 135.0 -135.0 (454 432 INO-1 +Q 100 150.0 -150.0
530 548 64DV-1 ¢A 100 255.0 -255.0 1437 449 44 V-1 ¢4 100 135.0 -135.0 {521 559 1¢ V-1 48 100 150.0 -150.0
532 546 54DV-1 ¢A 100 255.0 -255.0 (445 459 44 V-1 vA 100 135.0 -135.0 (529 551 3NO-1 v4 100 150.0 -150.0
549 529 64 V-2 vA 100 255.0 -255.0 (446 458 34 V-1 vA 100 135.0 -135.0 (550 530 INO-1 +Q 100 150.0 -150.0
632 648 64 O-2 T 100 255.0 -255.0 1448 456 3« V-1 vA 100 135.0 -135.0 |621 657 3NO-1 #8 100 150.0 -150.0
637 643 54DV-1 ¢A 100 255.0 -255.0 (460 444 3« V-1 vA 100 135.0 -135.0 (626 652 INO-1 +Q 100 150.0 -150.0
434 450 64 V-1 ¢A 50 208.0 -208.0 (527 553 34 V-1 ¢4 100 135.0 -135.0 (649 629 INO-1 +Q 100 150.0 -150.0
444 459 64 V-1 ¢A 50 208.0 -208.0 1545 535 3« O-1 vA 100 135.0 -135.0 |430 421 INN-= vA 90 145.0 -145.0
460 437 54 V-1 vA 50 208.0 -208.0 (552 528 24 V-1 ¢4 100 135.0 -135.0 (437 449 INN= 4 90 145.0 -145.0
533 545 54 V-1 vA 50 208.0 -208.0 (560 538 24 V-1 ¢4 100 135.0 -135.0 631 647 INS= &5 90 145.0 -145.0
555 523 54 V-1 vA 50 208.0 -208.0 |626 652 3« V-1 vA 100 135.0 -135.0 |659 658 1N S = ¢+2 90 145.0 -145.0
626 654 54 V-1 vA 50 208.0 -208.0 (628 650 24 V-1 ¢4 100 135.0 -135.0 (651 627 1v N= ¢7 80 131.0 -131.0
629 651 54 V-1 vA 50 208.0 -208.0 (631 647 34 V-1 &5 100 135.0 -135.0 427 424 1v O= +Q -80 -102.0 102.0
634 646 64 V-1 vA 50 208.0 -208.0 |655 623 3« V-1 ¢4 100 135.0 -135.0|534 546 1v O= +Q -80 -102.0 102.0
453 431 54 0= T -400 -226.0 226.0|660 637 44 V-1 46 100 135.0 -135.0 (433 453 INO=  ¢Q -90 -106.0 106.0
551 527 54 O= T -400 -226.0 226.0|431 455 4v S-1 4A -50 -39.0 39.0435451 INO= +Q -90 -106.0 106.0
559 558 5# O= T -400 -226.0 226.0|529 551 3v S-1 4A -50 -39.0 39.0(436 450 INO=  vJ -90 -106.0 106.0
622 658 54 O= v4 -400 -226.0 226.0|532 548 3v S-1 +Q -50 -39.0 39.0448 456 INO=  ¢Q -90 -106.0 106.0
426 423 44 V= vA  -420 -248.0 248.0 (423 428 3v S-2 ¢Q -100 -112.0 112.0 452 434 2¢ V= vT -90 -106.0 106.0
436 448 5 V+1 vA -420 -248.0 248.0 (533 547 5v S-2 4A -100 -112.0 112.0|460 444 INO= +Q -90 -106.0 106.0
524 554 44 V= vA -420 -248.0 248.0 (624 654 3NS-2 4A -100 -112.0 112.0|523 557 INO=  +Q -90 -106.0 106.0
528 550 44 V= vA -420 -248.0 248.0 (625 653 4v S-2 &K -100 -112.0 112.0|525555 INO= +Q -90 -106.0 106.0
531 547 44 V= 8  -420 -248.0 248.0 (621 657 24 V= ¢5 -110 -114.0 1140(531 549 INO= +¢Q -90 -106.0 106.0
544 534 44 O=  #3  -420 -248.0 248.0|632 646 24 V= v4 -110 -114.0 114.0(537 543 INO= +Q -90 -106.0 106.0
422 427 54 V= v2 -450 -288.0 288.0 (636 638 2e V= vA -110 -114.0 114.0(545535 INO= ¢Q -90 -106.0 106.0
430 454 44 V+1 v3  -450 -288.0 288.0 [649 629 24 V= 5 -110 -114.0 114.0(556 524 INO=  ¢Q -90 -106.0 106.0
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435 449 54 V= &8 -450 -288.0 288.0 (426 425 24 V+1 46 -140 -164.0 164.0|622 656 1IN O = +Q -90 -106.0 106.0
446 457 54 O = v2 -450 -288.0 288.0 (447 457 34 V= 5 -140 -164.0 164.0 (624 654 INO = +Q -90 -106.0 106.0
522 556 44 V+1 v8 -450 -288.0 288.0 (452 434 34 V= 5 -140 -164.0 164.0 (625 653 2¢ V= vT -90 -106.0 106.0
525 553 54 O = ¢2 -450 -288.0 288.0 (454 432 24 V+1 ¢4  -140 -164.0 164.0(628 650 1N O = v4 -90 -106.0 106.0
543 535 44 O+1 v4  -450 -288.0 288.0|523 557 24 V+1 #9 -140 -164.0 164.0|632 646 1INV = v2 -90 -106.0 106.0
631 649 44 O+1 v3 -450 -288.0 288.0 (550 530 24 V+1 8 -140 -164.0 164.0|633 645 INO= +Q -90 -106.0 106.0
633 647 44 V+1 v6  -450 -288.0 288.0 (633 645 34 V= v8 -140 -164.0 164.0 (643 635 1INV = &3 -90 -106.0 106.0
650 630 54 V= vA -450 -288.0 288.0 (643 635 24 V+1 v4  -140 -164.0 164.0|446 458 INN-1 vA -100 -108.0 108.0
660 638 54 V= ¢A -450 -288.0 288.0 (644 634 24 V+1 45 -140 -164.0 164.0|527 553 INN-1 vA -100 -108.0 108.0
428 421 44 V+2 vA  -480 -311.0 311.0 |651 627 34 V= ¢4  -140 -164.0 164.0 (655 623 INS-1 6 -100 -108.0 108.0
445 458 54 V+1 vA -480 -311.0 311.0|659 658 34 V= ¢5 -140 -164.0 164.0 (429 422 2N O = ¢+Q -120 -152.0 152.0
447 456 44 V+2 vA -480 -311.0 311.0(522 558 2v S-3 #4A -150 -168.0 168.0 |447 457 2N O = ¢Q -120 -152.0 152.0
644 636 44 V+2 vA -480 -311.0 311.0 (526 554 5v N-3 «K -150 -168.0 168.0 (522 558 INV+1 &7 -120 -152.0 152.0
645 635 44 V+2 vA -480 -311.0 311.0|433 453 24 V+3 6 -200 -240.0 240.0|552 528 INO+1 +Q -120 -152.0 152.0
656 624 44 V+2 48 -480 -311.0 311.0 (525 555 2NS-4 5 -200 -240.0 240.0|560 538 INO+2 ¥4 -150 -188.0 188.0
429 455 54DV = A -650 -469.0 469.0|531 549 4v S-4 4A -200 -240.0 240.0|426 425 INDN-1 vQ -200 -245.0 245.0
432 452 54DV = vA -650 -469.0 469.0 |537 543 3¢DN-2 45 -300 -346.0 346.0|526 554 2v N-2 44 -200 -245.0 245.0
625 655 54DV= vA -650 -469.0 469.0 (534 546 44DV = ¢vA -790 -656.0 656.0|660 637 INDN-1 ¥vA -200 -245.0 245.0
37 a2 Basta kontrakt 38 & KKn Basta kontrakt 39 4 EKn54 Basta kontrakt
Nord v 1052 6¢ O =-920 Ost v EK107 4v S =420 Syd v K108 6NT S = 1440
NS + 8754 oV 49873 Alla + K104
#KD1095 & ¢ v & NT *KD6 & ¢ v & NT #KKn6 & ¢ v & NT
4 E743 4 KD6 N4 1332 « E62 4D109875 N 7 10106 8 4932 4 K1076 N 1012111112
v 98 v EK73 S41332 v 932 v 654 S 7 10106 8 v4 vD9752 S 1012111112
¢ ED3 ¢ KKn109 O 9 12101011 ¢ EKn ¢+ K4 0533765 + 8752 ¢ Kn9 031221
#Kn643 #E2 vV 9 12101011 #107432 #Kn5 V53375 #D10974 %32 V31221
» Kn10985 443 D8
v DKn64 v DKn8 v EKn63
¢ 62 + D10652 + ED63
»87 #E98 #E85
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
630 656 64D O-3 #8 500 648.0 -648.0 (460 445 34D O -2 vQ 500 493.0 -493.0 |447 459 6N S+1 &9 1470 561.0 -561.0
444 450 6ND O -2 #8 300 509.0 -509.0 (653 633 3NN+2 v4 460 474.0 -474.0 1623 659 6NN +1 v5 1470 561.0 -561.0
635 651 6NV-3 #Q 150 419.0 -419.0 |624 623 3N S+1 &3 430 426.0 -426.0 |425 430 6NN = v3 1440 546.0 -546.0
655 631 7NO-3 vQ 150 419.0 -419.0 |637 649 3NN+1 v6 430 426.0 -426.0 |435 455 6N N = v2 1440 546.0 -546.0
436 452 6NO-2 ¢6 100 390.0 -390.0 |448 457 4v S= A 420 425.0 -425.0 (449 457 6N S = v4 1440 546.0 -546.0
460 445 6NO-2 «J 100 390.0 -390.0 (551 531 4v N = a7 420 425.0 -425.0 |460 446 6N S = v4 1440 546.0 -546.0
530 552 6NO-2 #8 100 390.0 -390.0 {635 651 4v N = ¢+K 420 425.0 -425.0 |524 521 6N S = ¢7 1440 546.0 -546.0
532 550 44DV -1 &K 100 390.0 -390.0 (560 543 3« O-2 +¢2 200 191.0 -191.0 (527 557 6N S = 2 1440 546.0 -546.0
624 623 6NV-2 vT 100 390.0 -390.0 (660 645 34 O-2 5 200 191.0 -191.0 |528 556 6N N = v2 1440 546.0 -546.0
634 652 6NV-2 &K 100 390.0 -390.0 (428 425 3¢ S+2 &2 150 134.0 -134.0 (534 550 6N S = v4 1440 546.0 -546.0
647 643 6NO-2 48 100 390.0 -390.0 (424 429 4¢ S= &2 130 124.0 -124.0 (552 532 6N S = v4 1440 546.0 -546.0
430 423 44 V-1 #K 50 327.0 -327.0 (430 423 4¢ S= &2 130 124.0 -124.0 (630 652 6N S = 42 1440 546.0 -546.0
432 421 44 O-1 #K 50 327.0 -327.0 (434 454 3¢ S+1 &A 130 124.0 -124.0 (645 637 6N S = 42 1440 546.0 -546.0
526 556 4v O-1 #8 50 327.0 -327.0 (527 555 4¢ S= A 130 124.0 -124.0 |660 643 64 S = v3 1370 483.0 -483.0
527 555 44 V-1 &K 50 327.0 -327.0 (634 652 3¢ S+1 &4A 130 124.0 -124.0 |646 636 3NS+4 &7 720 70 -7.0
551 531 6NO-1 4] 50 327.0 -327.0 (530 552 INN+1 &7 120 123.0 -123.0 (432 423 3N N+3 &5 690 -34.0 34.0
644 646 44 O-1 &8 50 327.0 -327.0 (655 631 INS+1 42 120 123.0 -123.0 (437 453 3NS+3 ¥3 690 -34.0 34.0
434 454 44 V= &K -420 -182.0 182.0|524 558 3¢ S= &2 110 79.0 -79.0444 452 3NS+3 v4 690 -34.0 34.0
538 544 4e V= &K -420 -182.0 182.0|427 426 3NN-1 44 -50 -120.0 120.0 (448 458 3NS+3 #Q 690 -34.0 34.0
648 638 44 O = 8 -420 -182.0 182.0(431 422 3NN-1 43 -50 -120.0 120.0 (450 456 3N S+3 &9 690 -34.0 34.0
424 429 3NO+1 #8 -430 -182.0 182.0|432 421 3NN-1 48 -50 -120.0 120.0 (525 559 3N S+3 &7 690 -34.0 34.0
427 426 3NO+1 &J -430 -182.0 182.0|436 452 3NN-1 49 -50 -120.0 120.0 (533 551 3N S+3 &4 690 -34.0 34.0
428 425 3NO+1 4J -430 -182.0 182.0 (437 451 3NN-1 49 -50 -120.0 120.0 [535 549 3NS+3 &9 690 -34.0 34.0
437 451 3NO+1 &J -430 -182.0 182.0|444 450 3NN-1 &7 -50 -120.0 120.0 [543 545 3N S+3 &5 690 -34.0 34.0
447 458 3NO+1 &J -430 -182.0 182.0|447 458 3NN-1 48 -50 -120.0 120.0 [554 530 4N S+2 &9 690 -34.0 34.0
448 457 4N O = #8 -430 -182.0 182.0|449 456 3NN-1 49 -50 -120.0 120.0 [560 544 3NS+3 &9 690 -34.0 34.0
449 456 3NO+1 #8 -430 -182.0 182.0|453 435 3NN-1 49 -50 -120.0 120.0 (632 650 3NS+3 &7 690 -34.0 34.0
453 435 3NO+1 #8 -430 -182.0 182.0|455 433 3NN-1 &7 -50 -120.0 120.0 [657 625 3N S+3 &4 690 -34.0 34.0
455 433 3NO+1 «J -430 -182.0 182.0(522 521 3NN-1 49 -50 -120.0 120.0 (421 434 3NS+2 42 660 -63.0 63.0
523 559 3NO+1 &8 -430 -182.0 182.0 (523 559 3N N-1 &7 -50 -120.0 120.0 (428 427 ANS+1 &4 660 -63.0 63.0
524 558 3NV +1 &K -430 -182.0 182.0 (526 556 3NN-1 46 -50 -120.0 120.0 (429 426 3NS+2 &4 660 -63.0 63.0
528 554 3NO+1 vJ -430 -182.0 182.0 (528 554 3N N-1 &7 -50 -120.0 120.0 (431 424 3NS+2 &T 660 -63.0 63.0
533 549 3NO+1 #8 -430 -182.0 182.0 (532 550 3N N-1 49 -50 -120.0 120.0 (454 436 4ANS+1 &9 660 -63.0 63.0
534 548 3NO+1 4J -430 -182.0 182.0 (533 549 3NN-1 49 -50 -120.0 120.0 (529 555 3N S+2 &4 660 -63.0 63.0
535 547 4NV = &K  -430 -182.0 182.0(535 547 3NN-1 49 -50 -120.0 120.0 (531 553 3N S+2 &9 660 -63.0 63.0
545537 3NO+1 &J -430 -182.0 182.0 (545 537 3NN-1 43 -50 -120.0 120.0 (536 548 3NS+2 48 660 -63.0 63.0
546 536 BNO+1 ¢5 -430 -182.0 182.0 [546 536 3NN-1 v4 -50 -120.0 120.0 [546 538 3NS+2 &9 660 -63.0 63.0
563 529 3NV +1 &K -430 -182.0 182.0 [553 529 3N N-1 4T -50 -120.0 120.0 (626 656 3N S+2 &4 660 -63.0 63.0
557 525 3NO+1 ¢6 -430 -182.0 182.0 [557 525 3N N-1 44 -50 -120.0 120.0 (628 654 3NS+2 v4 660 -63.0 63.0
560 543 3NO+1 #8 -430 -182.0 182.0 (625 622 3NN-1 49 -50 -120.0 120.0 (651 631 3NS+2 ¥4 660 -63.0 63.0
625 622 3NO+1 «J -430 -182.0 182.0 (626 621 3NN-1 4T -50 -120.0 120.0 (653 629 3NS+2 &4 660 -63.0 63.0
626 621 3NO+1 #8 -430 -182.0 182.0 (628 658 3NN-1 49 -50 -120.0 120.0 (638 644 3NS+1 ¥4 630 -100.0 100.0
628 658 3NO+1 4J -430 -182.0 182.0 (629 657 3NN-1 &7 -50 -120.0 120.0 (635 647 3N S = &4 600 -129.0 129.0
629 657 3BNO+1 #8 -430 -182.0 182.0|630 656 3NN-1 49 -50 -120.0 120.0 (433 422 6NS-1 5 -100 -606.0 606.0
632 654 3NO+1 #8 -430 -182.0 182.0 (632 654 3NN-1 48 -50 -120.0 120.0 (523 522 6NS-1 ¥4 -100 -606.0 606.0
636 650 BNO+1 ¥4 -430 -182.0 182.0 (636 650 3NN-1 48 -50 -120.0 120.0 (547 537 6NS-1 #4 -100 -606.0 606.0
637 649 3NO+1 &J -430 -182.0 182.0|644 646 3NN-1 v4 -50 -120.0 120.0 (558 526 54 N-1 ¢2 -100 -606.0 606.0
653 633 3NO+1 48 -430 -182.0 182.0 (647 643 3NN-1 &5 -50 -120.0 120.0 (622 621 6NS-1 7 -100 -606.0 606.0
659 627 3NO+1 T -430 -182.0 182.0 (648 638 3NN-1 ¢K -50 -120.0 120.0 ({624 658 6NN-1 ¢2 -100 -606.0 606.0
660 645 3NO+1 «J -430 -182.0 182.0 (659 627 3NN-1 &7 -50 -120.0 120.0 (627 655 6NS-1 #9 -100 -606.0 606.0
431 422 3NO+2 #8 -460 -227.0 227.0|446 459 3NDN-1 44 -100 -205.0 205.0|633 649 6NS-1 #4 -100 -606.0 606.0
446 459 3NO+2 vQ -460 -227.0 227.0|534 548 3NN-3 43 -150 -255.0 255.0|445 451 6NS-2 ¢7 -200 -640.0 640.0
522 521 3NO+2 &8 -460 -227.0 227.0 (538 544 3NN-3 49 -150 -255.0 255.0(634 648 6NS-2 &9 -200 -640.0 640.0
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40
Vast
Ingen

4 E65

v Kn108
¢ E742
&#Kn92

4 K1092 &Kn43

v K76
41083
&ED4

Par

429 426
449 457
622 621
454 436
432 423
560 544
425 430
437 453
525 559
528 556
531 553
533 551
554 530
558 526
626 656
627 655
646 636
660 643
431 424
447 459
428 427
546 538
624 658
630 652
633 649
651 631
657 625
421 434
529 555
433 422
435 455
444 452
445 451
448 458
450 456
460 446
523 522
534 550
535 549
536 548
543 545
547 537
552 532
623 659
628 654
632 650
634 648
635 647
638 644
645 637
653 629
524 521
527 557

v D54

+ DKn9
&K1073
« D87

v E932

+ K65

#3865

Kontr Ut

3& V-1
INV-1
INV-1

P
2z
<

PRRRREPRRERE
2222222222
OO0 OO OO
mwoon g g
<
w

N
<
[92)
NS

2¢vDS-1
IN O +1
INO +1
IN O +1
IN O +1
INO +1
1IN O +1
INV +1
24 V +1
24 V +1
IN O +2
INO +2
IN O +2
IN O +2
INO +2
IN O +2
IN O +2
INO +2
IN O +2
IN O +2
INO +2
IN O +2
IN O +2
IN O +2
3¢ N-3
IN O +2
IN O +2
INV +2
ANV +2
INO +2
IN O +2
IN O +2
26 DN-2 &7
24DV +1 &5

Basta kontrakt

24 V =-110
& ¢ v & NT
N55 6 55
S56 656
o87787
V87787

Res Poang
50 239.0 -239.0
50 239.0 -239.0
50 239.0 -239.0
175.0 -175.0
-50 108.0 -108.0
-50 108.0 -108.0
-90 53.0 -53.0
-90 53.0 -53.0
-90 53.0 -53.0
-90 53.0 -53.0
-90 53.0 -53.0
-90 53.0 -53.0
-90 53.0 -53.0
-90 53.0 -53.0
-90 53.0 -53.0
-90 53.0 -53.0
-90 53.0 -53.0
-90 53.0 -53.0
-100 49.0 -49.0
-100 49.0 -49.0
-120 3.0 -30
-120 3.0 -30
-120 3.0 -3.0
-120 3.0 -30
-120 3.0 -30
-120 3.0 -3.0
-120 3.0 -30
-140 -44.0 440
-140 -44.0 440
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150  -47. 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-150 -47.0 47.0
-300 -237.0 237.0
-570 -504.0 504.0

41 & D6532
Nord v D82
oV + Knl0
D63
«10 987
vKKn43 vE97
+ 873 ¢ E652
&#E9742 #K85
& EKKn4
v 1065
+ KD94
&Knl10
Par Kontr Ut
426 431 2v N+1 49
430 427 24 S+1 ¢3
433 424 34 S= +3
446 452 34 S= +3
455 437 34 S= +3
524 523 24 S+1 8
526 521 34 S= +3
530 556 24 S+1 ¢7
534 552 24 S+1 8
553 533 34 S= +8
560 545 24 S+1 ¢3
625 659 24 N+1 8
627 657 34 S= v4
422 435 24 N= a7
429 428 24 N= 49
434 423 24 N= 49
436 421 24 S= v4
460 447 24 N= a7
525 522 24 N= a7
528 558 24 N = a7
535 551 1a4 N+1 &7
537 549 24 S= &5
547 543 24 S= v3
623 622 24 N= 49
624 621 24 N= LY:]
629 655 24 S= v4
631 653 24 N= a7
634 650 24 N= v7
643 645 24 N= a7
646 638 24 N= 49
652 632 24 N= 49
654 630 24 N= 49
448 459 3v V-1 42
529 557 34 O-1 +K
658 626 1IN S= &4
432 425 34 N-1 v4
444 454 46 S-1  ¢3
451 456 34 N-1 49
536 550 34 S-1 4T
544 546 34 N-1 43
548 538 24 N-1 9
555 531 INS-1 &2
559 527 34 N-1 v7
635 649 2y N-1 49
636 648 34 N-1 &5
647 637 34 N-1 v7
660 644 34 N-1 &3
628 656 1IN O = s A
449 458 3NS-2 &4
450 457 44 N-2 &5
532 554 44 N-2 &3
633 651 INS-3 &2
445 453

Basta kontrakt

24 N =110
& ¢ v & NT
N56586
S56586
0858565
V85855
Res Poang
140 114.0 -114.0
140 114.0 -114.0
140 114.0 -114.0
140 114.0 -114.0
140 114.0 -114.0
140 114.0 -114.0
140 114.0 -114.0
140 114.0 -114.0
140 114.0 -114.0
140 114.0 -114.0
140 114.0 -114.0
140 114.0 -114.0
140 114.0 -114.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
110 62.0 -62.0
100 61.0 -61.0
100 61.0 -61.0
90 29.0 -29.0
-50 -143.0 143.0
-50 -143.0 143.0
-50 -143.0 143.0
-50 -143.0 143.0
-50 -143.0 143.0
-50 -143.0 143.0
-50 -143.0 143.0
-50 -143.0 143.0
-50 -143.0 143.0
-50 -143.0 143.0
-50 -143.0 143.0
-50 -143.0 143.0
-90 -198.0 198.0
-100 -210.0 210.0
-100 -210.0 210.0
-100 -210.0 210.0
-150 -267.0 267.0
A-/A+ -104.0 78.0

42 87
Ost v K632
Alla + EK98
&EKn2
« EKD10953 #Kn64
v10 v EKn85
¢+ D4 ¢ 762
&K73 D386
a2
v D974
+ Kn1053
#10954
Par Kontr Ut
553 533 44DV -2 +A
436 421 44DV -1 438
450 457 44DV -1 ¢A
451 456 44DV -1 ¢A
525 522 44DV -1 +A
526 521 44D O-1 ¢A
537 549 44DV-1 +A
555 531 44DV -1 ¢A
658 626 44DV -1 ¢A
422 435 44 V-1  ¢A
433 424 44 V-1 ¢ A
444 454 44 V-1 ¢ A
449 458 44 V-1 ¢A
529 557 44 V-1 ¢A
534 552 44 V-1 48
544 546 44 O-1 49
623 622 44 V-1 ¢A
625 659 44 V-1 48
627 657 44 V-1 ¢A
628 656 44 V-1 ¢A
633 651 44 V-1 ¢A
634 650 44 V-1 ¢A
636 648 44 V-1 ¢A
643 645 44 V-1 ¢A
647 637 44 V-1 ¢A
660 644 44 V-1 ¢A
429 428 24 V+1 ¢A
430 427 34 V= ¢A
446 452 34 V= rY:]
528 558 34 V= *A
535 551 3a V= LY:]
536 550 24 V+1 ¢A
547 543 34 V= *A
624 621 34 V= ¢A
629 655 24 V+1 ¢ A
559 527 34 V+1 ¢A
652 632 4y S-2 4A
426 431 5¢ N-3 43
530 556 5v S-3 &A
434 423 46 V = ¢A
448 459 4e V= A
455 437 44 V= *A
460 447 4e V= ¢A
560 545 44 V= A
635 649 44 V= *4
646 638 44 V= ¢A
654 630 44 V= a7
548 538 44 V+1 +A
432 425 44D O = ¢K
532 554 44DV = +¢A
631 653 44DV= ¢K
524 523 3vyDS-3 4A
445 453

Basta kontrakt
34 O =-140

N
S
o)
v

Res

500
200
200
200
200
200
200
200
200
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
-140
-140
-140
-140
-140
-140
-140
-140
-140
-170
-200
-300
-300
-620
-620
-620
-620
-620
-620
-620
-620
-650
-790
-790
-790
-800
A-I1A+

U1 U100 00 i

wWwomwe
ADhOOe
©ONMDS
©o U Ul Z

Poang

563.0 -563.0
329.0 -329.0
329.0 -329.0
329.0 -329.0
329.0 -329.0
329.0 -329.0
329.0 -329.0
329.0 -329.0
329.0 -329.0
215.0 -215.0
215.0 -215.0
215.0 -215.0
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